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General Ability

Section Id : 967947101

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 967947121

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9679472021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

QFY, UEC, YDS, CCP, ?
Options :

1. #* MBG

2. ¥ GBM

3. % HBN

4. % HNB

Question Number : 1 Question Id : 9679472021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3U TN fdoredl & U I 3HeR-T0g H1 90 $x, o FafoiRed S & usaEs [g (2) & RIM IR 39T o 96l ¢

QFY, UEC, YDS, CCP, ?
Options :

1. # MBG

2. ¥ GBM

3. ¥ HBN

4. % HNB

Question Number : 2 Question Id : 9679472022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

BNQJ, AQLC, ZTGU, YWBO, XZWH, WCRA
Options :

1. ¥ WCRA

2. % XZWH

3. ¥ YWBO

4. % ZTGU

Question Number : 2 Question Id : 9679472022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 31ER-GHE HT T4 B3, 511 ot T3 Y7a I Yafdd T 5|

BNQJ, AQLC, ZTGU, YWBO, XZWH, WCRA
Options :

1. ¥ WCRA

2. % XZWH

3. ¥ YWBO

4. 7ZTGU

Question Number : 3 Question Id : 9679472023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. # Deceit

2. % Hypocrisy

3. % Fraud

4. ¥ Honesty

Question Number : 3 Question Id : 9679472023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Yeal fot TN B, R ¥, i wreg; et 7 et v I € ok U e 31 et wreg 7 99 %
Options :

1. % g

2. % dUc

3. % ¢

4. ¢ SHFCRY

Question Number : 4 Question Id : 9679472024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

BQLG : FLOE :: SBFM :
Options :

1. ®* OGCO

2. ¥ WWIK

3. % WGCK

4. % OWIO

Question Number : 4 Question Id : 9679472024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BQLG : FLOE :: SBFM :
Options :

1. ¥ OGCO

2. ¥ WWIK

3. % WGCK

4. % OWIO

Question Number : 5 Question Id : 9679472025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Bones : Osteology :: Population:
Options :

1. % Cytology

2. ¥ Demography

3. % Geography

4. % Geology

Question Number : 5 Question Id : 9679472025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhe &1 7o &9, S JRR Wsg A I YR Iaifdrd g 5 TR gORT Ueg TS Ve, A Taiferd g
Y - &@[ﬁﬁﬂq:: SIS

Options :

1. % IR o=
2. ¢ SHYIRADT
3. % Yid

4. % AU

Question Number : 6 Question Id : 9679472026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RULING’ is written as ‘URQDGN’. How will ‘MOTHER’ be written in that language?
Options :

1. ®* OMOMRE

2. % RJHTIM

3. ¥ OMYCRE

4. ¥ OMYMRE

Question Number : 6 Question Id : 9679472026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Af8d e WIS H, ‘RULING’ &I ‘URQDGN’ forar STt 81 3¢ 4TS &, ‘MOTHER® & fhd UeR forar smaem?
Options :

1. ¥ OMOMRE

2. % RJHTIM

3. ¥ OMYCRE

4. ¥ OMYMRE

Question Number : 7 Question Id : 9679472027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘ORANGE’ is coded as ‘99°.How will ‘CLOUDY” be coded in that language?
Options :

1. % 78

2.9 80

3. % 82

4, % 84

Question Number : 7 Question Id : 9679472027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf3d Be Wt H, IS <ORANGE” BT <99 foRaT STl § < St HIWT & *CLOUDY” &) ford TR ferar e



Options :
1. % 78
2.9 80
3. % 82
4, % 84

Question Number : 8 Question Id : 9679472028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anvita is the sister of Bamika, who is the wife of Chiru. Divya and Esha are the daughters of Bamika. Fiyan is the son of Anvita and Girija is the wife
of Anvita’s only son. Hriday is married to Esha and Kriti is a daughter of Hriday. Itikia is the sister of Junaid, who is the son of Girija.How is Bamika
related to Kriti?

Options :

1. # Paternal grandmother
2. % Mother

3. # Sister

4. ¥ Maternal grandmother

Question Number : 8 Question Id : 9679472028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST e BT 98 5, Sl Foe &1 Uall 5| e SiR S31, HIfHesT 3T afedl g1 fham sifdan o1 e § ok Rifver sifadr & tedld 9¢ &1 uel 5|
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Options :

1. % grdl

2. % A

3. % dg-

4. !

Question Number : 9 Question Id : 9679472029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alok, Bidan, Chaitu, Divija, Emiya, Falgun and Giri are sitting around a circle and are facing the centre.Giri is second to the left of Chaitu, who is to the
immediate left of Falgun.Alok is third to the left of Emiya.Bidan is between Diviaj and Emiya.Which of the following pairs has the 1st person sitting to



the immediate left of the 2nd person?
Options :

1. * Bidan, Emiya

2. % Chaitu, Alok

3. ® Giri, Divija

4. ¥ Divija, Giri

Question Number : 9 Question Id : 9679472029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MTettep, foar, =i, fafds, T, Brege ik fiR Ue 90 & IR 3R s &t SiR 4g T guad &1 MR =g & a1 gaR1 8, S BT & Sl a1l
& | 3MTelieh T o ST ol g | forar, fafasi SiR uftran & e g1 faw ¢ fashedl & & fovdt g o1 ug e sk, g afeki & Sl &1 931 82
Options :

(IR ACHERYED)

2. % T, MAH

3. % MR, fafas

4. fafaem, iRk

Question Number : 10 Question Id : 9679472030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance
with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements :
No watch is pot.
Some pots are mobiles.

Conclusions :
I. All mobiles being watch is a possibility.
I1. Some mobiles being watch is a possibility.

Options :
1. * Only conclusion I follows.
2. % Only conclusion II follows.

3. % Neither conclusion I nor II follow.



4. % Either conclusion I or IT follow.

Question Number : 10 Question Id : 9679472030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T YT SR Sl & eYdes U | 3! faU T8 Syl &1 g1 A HR 9o ¢ dTe d JH I1d 92 9 37 Udid 81 8 3R R fofa
HIfTL i &1 A Frewd 3T T w2t &1 difches U I SI8RUN 63l /6% g |

HY- :

PIS US! SR Tl 5|

$T T A2 |

freepy -

1. 9 HiaTsdl & U 8 & UG ¢ |

IL. $S AIEEdl & ot g B UG ]|
Options :

1. % Had (5HY [ IR0 FRal 5|

2. ¢ Had FTSHY 11 SIERU HAT ¢ |

3. % A sy 1 3R A 8 s 11 R0 el 3|
4. % g1 frsepy 1 a1 sy 11 SFERU R B |

Question Number : 11 Question Id : 9679472031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance
with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

No nose is magnet.

Not a single magnet is basket.
Every basket is stone.

Conclusions:

I. Some stones which are baskets are nose as well.
II. No nose is a basket.

III. Some stones are baskets.

Options :



1. # All conclusions I, II and III follow.
2. # Either conclusion I or II follow.

3. % Only conclusion III follows.

4. % Only conclusion II and III follow.

Question Number : 11 Question Id : 9679472031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 111 3R 1, 9ft Frepe araRur avd B
2. % 71 al e 1 a1 e 11 3R aRaT g
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Question Number : 12 Question Id : 9679472032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs need to be interchanged to make the following equation correct?

100 - 156 +13x8+6=10
Options :
1. % xand -



2.% +and +
3.% +and —

4. % xand ~+

Question Number : 12 Question Id : 9679472032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefaa gt &) gt 34 & ot fob g RIgl &) IR FgaHr g

100—156+13 x8 ~6=10
Options :

1. % x3R -

2. % + 3-?[?%

3. % + 3R -

4. % x 3R+

Question Number : 13 Question Id : 9679472033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

4,9, 18, 39, 80, 165, ?
Options :
1. % 332
2. % 343
3. % 323
4.9 334

Question Number : 13 Question Id : 9679472033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fasredl & § 39 TRe o1 woF &9, O Fuferiaa g 3 usares [g (2) & RIM WR 38T 7 9l g

4,9, 18, 39, 80, 165, ?




Options :
1. % 332
2. % 343
3. % 323
4.9 334

Question Number : 14 Question Id : 9679472034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best represents the relationship between the following classes.

Vegetables, Spinach, Beetroot

Options :
1,&(@
2. % §§

3. % j: :
4'\-‘/.

Question Number : 14 Question Id : 9679472034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %

4.

Question Number : 15 Question Id : 9679472035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aditya travelled from his home to the convention hall at a distance of 100 m. He turned right and walked 70 m, then again turned right and walked 90 m
to reach Empress towers. Finally, he turned right and walked 70 m to reach his grandfather’s house. How far is he from the starting point?

Options :
1. % 15m
2. % 13m
3.% 12m
4.4 10m



Question Number : 15 Question Id : 9679472035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

MG 7 3T TR Y THAH-H& b BT 100 m G a8 Bt | IR a8 a8 TT 3R 70 m T, fOR 318 T 3R 90 m TAHR THIY SlaR e Ugan| 3
¥, 98 a8 g1 3TR 70 m bR 3T 35T & ©R Ugd 71| 3 I8 30 3R foig J fbat R 82

Options :

. % 15m

2.% 13m

3.% 12m

4. ¢ 10m

Question Number : 16 Question Id : 9679472036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The town of Pramod is located on BHEL. The town of Anmol is to the west of Pramod. Tanya is to the east of Anmol but to the west of Pramod. Kalki
is to the east of Bidan but to the west of Tanya and Anmol. If they are all in the same district, which town is the farthest east?

Options :

1. % Pramod
2. % Kalki
3. % Anmol

4. % Bidan

Question Number : 16 Question Id : 9679472036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG &1 XEX BHEL H § | 3FHIA $1 6 THIG & UeR I Ul & §1 a1 3FHd & Yd H, Afds uHig & Ui & 8| &fcwh feH & gd &, dfee
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Options :

1. v UHIg

2. % Dich

3. % 3fHIA
4. % f9gH



Question Number : 17 Question Id : 9679472037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

S R I Bl IR LS
Q% | B 3 1\ 2
0T - pUllicay= S
A B C D
Options :
¥
N4
1. = I\F
| 4
.;I!
/]
2. % \F
N 4
4
3. % \Jfl
| W
¥4
/]
4.9 v

Question Number : 17 Question Id : 9679472037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
LB¥
J7
1. % I\r
|_J4
.;I!
]
2. % \F
N 4
4
3. % \Ll
| W
¥4
r/]
4.9 V

Question Number : 18 Question Id : 9679472038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will come next in the following series

= W 5|5 =l= 85 AN SR LA
A O * |~ m|F S|P =1
o = PP O ojao P C m olo O =
Options
= P =
D A
LQDSI
* = N
3
2.QIHD
* 5 =
[
3‘QIPE
P =
O o
m =
4.9 =

Question Number : 18 Question Id : 9679472038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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O « PP © olo P C|O m Olo © =
Options :
= P =
D M
| % o 5 m
* = Fal
3
) % R0 O
* 5 =
[
3‘23 R P O
P =i
O o
4 B 5 O

Question Number : 19 Question Id : 9679472039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct mirror image of the given combination when the mirror 1s placed at line 'PQ' as shown.

P
PROPERTIES

Q
Options :
| % 2dITAA9059
>« bEOBDEEK LIEZ?
; » bBEOBKELIE®

v 2d1TSAd90549

Question Number : 19 Question Id : 9679472039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rw oo et F wér guur gfafee &1 =9 #31 guur @ REeEr @ 'PQ W @ I gl

P
PROPERTIES'
Q

Options :

1.2 ¢edITAA90A9
,» « bBEOBEE LIE?2
, » BEOBKELIE®

4.« ad11TAA90A9



Question Number : 20 Question Id : 9679472040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

following figures. How would this paper look when unfolded?

--------- 4 b

Options :




Question Number : 20 Question Id : 9679472040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Break time :

Group Marks :
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 967947122
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679472041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Table salt is also known as:

Options :

1. # iodine

2. % sodium chloride

3. # helium

4. % potassium chloride

Question Number : 21 Question Id : 9679472041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TS (29d Jiee) B 39 719 J Hf I 8
Options :

1. % 3MSH

2. ¢ GIfSTH KRS S

3. % giferaH

4. % Ui wARSS

Question Number : 22 Question Id : 9679472042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The discovery of electron was done by:
Options :

1. ¥ James Chadwick

2. ¥ Joseph John Thomson

3. % John Dalton



4. % Ernest Rutherford

Question Number : 22 Question Id : 9679472042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoied o 9 forad gRT SaaeH &1 Wil &1 115 &f?
Options :

1. % W JSfd®

2. ¢ SR S UTHE

3. % W9 gleed

4. % T IIBIS

Question Number : 23 Question Id : 9679472043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following is the unit of speed knot?
Options :

1. % Ships

2. % Rockets

3. * Buses

4. % Aeroplanes

Question Number : 23 Question Id : 9679472043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & fosas o Tid 1 gebrs le &2
Options :

1. % SIcld

2. % e

3. % 94

4, % IS 8Tl



Question Number : 24 Question Id : 9679472044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Koyna dam is situated on Koyna river which is a tributary of the:
Options :

1. % Mabhi river

2. % Kaveri river

3. # Godavari river

4. % Krishna river

Question Number : 24 Question Id : 9679472044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST I el IR fyd B, 78 ! Fafafed 3 3 forg 9 & Jere 82
Options :

1. % et e

2. % BT

3. % Terad] et

4. ¥ U A

Question Number : 25 Question Id : 9679472045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is INCORRECT about the rice crop?
Options :

1. ¥ Tt grows in the plains of north and north-eastern India.

2. ¥ It is a kharif crop.

3. ® It requires above 25°C temperature.

4. % Our country is the largest producer of rice in the world.

Question Number : 25 Question Id : 9679472045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U8 IR 3R IWR-gdf YRd & B! d1h! H I 8|
2. % U8 TP 31 BIA B

3. % 3% foIQ 25°C F 3HfYH IUHM DI TS gl g |
4. ¢ BART <1 fay # 919 o a8 981 ISP g

Question Number : 26 Question Id : 9679472046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which language did Banabhatta write Harshavardhana's biography the 'Harshacharita'?
Options :

1. # Braj

2. ¥ Sanskrit

3. # Awadhi

4. % Pali

Question Number : 26 Question Id : 9679472046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIOTYE A UG B Sitat gy ford e § fordt ot
Options :

1. ® o9

2. ¢ Y&pd

3. % 3fqell

4. % Tt

Question Number : 27 Question Id : 9679472047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Nawab Siraj-ud-Daulah become the Nawab of Bengal after Alivardi Khan?
Options :

1. % 1752



2. % 1753
3. % 1754
4.9 1756

Question Number : 27 Question Id : 9679472047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

e WM & a8 a1d RRTS-3g-cra fhd a¥f & ST & =ard a4 A2
Options :

1. % 1752

2. % 1753

3. % 1754

4.9 1756

Question Number : 28 Question Id : 9679472048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Moth Ki Masjid is a heritage building located in Delhi, and was built in 1505 by Wazir Miya Bhoiya, Prime Minister during the reign of:
Options :

1. ¢ Sikandar Lodi

2. % Babar

3. # Alauddin Khilji

4. * Ibrahim Lodi

Question Number : 28 Question Id : 9679472048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS &I ARG feeet! 7 fUd Tep faRMId HaH & 3iR 39T AT 1505 H aoik fFram Hisar 3 sar uT, s afeiad # 9 fae e &
SR g 2

Options :

1. ¢ Ribar Al

2. % dIR

3. % 3Ief3gl faersit




4. % IeTgH lct

Question Number : 29 Question Id : 9679472049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first English diplomat to visit Akbar’s court in AD 15857
Options :

1. % Sir Hector Munro

2. % Ralph Fitch

3. # Sir Thomas Roe

4. % Captain Hawkins

Question Number : 29 Question Id : 9679472049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

1585 SX1 H 3peR B XIR H A T UUH AW ISHRIb Hi 2
Options :

]. % WgFR TR

2. ¢ e

3. % YA

4. % HP gifp-4

Question Number : 30 Question Id : 9679472050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRAGATI is an ambitious multi-purpose and multi-modal platform. When was it launched by PM Modi?
Options :

1. % March 2015

2. % March 2016

3. % March 2017

4, % March 2018

Question Number : 30 Question Id : 9679472050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25

TIfA(PRAGATI) Ush Aeaaiel 9g-35xdlg 3R sg-Fu-faws @se) Ha (WewH) g | e s et 7 fog o & sqo! Yoaimd o1 A
Options :

1. ¢ A 2015

2. % AT 2016

3. % HTH 2017

4. % AR 2018

Question Number : 31 Question Id : 9679472051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following received the Maharashtra Bhushan Award 20217
Options :

1. ¥ Lata Mangeshkar

2. % Sachin Tendulkar

3. ¥ Asha Bhosale

4. * Sunil Gavaskar

Question Number : 31 Question Id : 9679472051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
frgfeRad & & fbem HERTY YT [REPR 2021 Wi fobar
Options :

1. % QT HIRIHR

2. % gy dgaax

3. SR HIFe

4. % AT TMAIHR

Question Number : 32 Question Id : 9679472052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the prime minister of India when the emergency was imposed in India on 25 June1975?



Options :

1. *¥ Lal Bahadur Shastri
2. # Rajiv Gandhi

3. ¥ Indira Gandhi

4. # Jawaharlal Nehru

Question Number : 32 Question Id : 9679472052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 S 1975 B, HRA H MUTAHIA ARL 814 & SR YRA $/d! U4 T3 B /20
Options :

1. % TIIcl §8TgR el

2. % Tofig et

3. ¢ gfar el

4. % SAER A1 18

Question Number : 33 Question Id : 9679472053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Right to elementary education’ comes under which Article of the Constitution of India?
Options :

1. # Article 22

2. % Article 21A

3. % Article 19

4. % Article 20

Question Number : 33 Question Id : 9679472053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e o7 SfIPR HRA F TfAU™ & g 3rgwde & 3favid 3mdr g2
Options :

1. % 3w9G 22

2. ¥ TG 21A



3. % 3JWa 19
4. % 3G 20

Question Number : 34 Question Id : 9679472054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following festivals are roli, aipun, rice, water, flowers, a bell and a conch are necessary for the puja?
Options :

1. ¥ Diwali

2. % Ram Navami

3. # Raksha Bandhan

4. % Janmashtami

Question Number : 34 Question Id : 9679472054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeaRad & @ forg R & gon & fre e, Tuur, arad, U, Bd, T 89 3R T IRG 1aRa® 82
Options :

1. % fareit

2. ¢ W AqH]

3. % Y&y

4. % SHTEHI

Question Number : 35 Question Id : 9679472055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following runs the Toilet Accelerator, the world’s 1st accelerator programme dedicated to sanitation entrepreneurs in low-income markets?
Options :

1. # India Sanitation Coalition

2. % The Toilet Board Coalition

3. ¥ Water and Sanitation Regulator

4. % National Water and Sanitation Company



Question Number : 35 Question Id : 9679472055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 oM ITd IORY B T d1-3Hal &1 THd fay HT Igar TRieeR Ui, S TaRiaRey, Fa § ¥ fas gRT danferd fasar simar g2
Options :

1. % 357 GeRH PiufE

2. ¥ T TIITIC IS HILARM

3. % 99 3R W dl Fam®

4. % TP S SR W3l HUHT

Question Number : 36 Question Id : 9679472056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who heads the Cabinet Committee on Economic Affairs in India?
Options :

1. #* Finance Minister

2. % Prime Minister

3. # Minister for Commerce

4. % Cabinet Secretary

Question Number : 36 Question Id : 9679472056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRa # 3nfifes A ot AT I o1 TE $1F gidT 82
Options :

1. % foqeat

2. ¢ GYHAL

3. % qIforsy wAt

4. % PHfgc gl

Question Number : 37 Question Id : 9679472057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which year was the National Institution for Transforming India, better known as NITI Aayog, formed via a resolution of the Union Cabinet?
Options :

1. % 2013

2. %2014

3. ¥ 2015

4. % 2017

Question Number : 37 Question Id : 9679472057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

h HETS & U URdTd o HIeqH ¥ 1S, AP HRA UiRac= ST, f5r i (NITI) ST & =1 9§ ST STl 8, BT 16 o ay fosam
Y

Options :
1. % 2013
2. % 2014
3. ¥ 2015
4. % 2017

Question Number : 38 Question Id : 9679472058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The host country/countries of the upcoming 2023 FIFA Women's World Cup (football) is/are:
Options :

1. # Argentina

2. % Brazil and Peru

3. ¢ Australia and New Zealand

4. % France and UK

Question Number : 38 Question Id : 9679472058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST 2023 WIHT AfY 3y F (Fedd) Bt AT HIF-TT G- HX?

Options :



1. % 3fdAr

2. % FToTd 3R TR

3. ¢ Sffferan 3R el
4. % WY IR Y.F

Question Number : 39 Question Id : 9679472059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kabaddi is the national sport of which of the following countries?
Options :

1. # Pakistan

2. # Sri Lanka

3. ¥ Bangladesh

4. % Kenya

Question Number : 39 Question Id : 9679472059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifea § & fra 32 1 ity A Fag) 32
Options :

1. * g™

2. % diciehl

3. ¥ GG

4. % BT

Question Number : 40 Question Id : 9679472060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match the following:

(i) Beighton Cup (a) Badminton

(ii) Deodhar Trophy (b) Foothall

(iii) Ballon d'Or (c) Cricket
{iv] Thomas Cup {d) Hockey
Options :

L. # (D)-(a), (i)~(b), (iii)-(c), (iv)-(d)
2. % (i)-(b), (i)-(c), ((i)~(d), (iv)-(a)
3. % ()-(c), (iD)-(d), (iiD)-(a), (iv)-(b)
4. (D)-(d), (iD)-(c), (iii)-(b), (iv)-(a)

Question Number : 40 Question Id : 9679472060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fArafafaa & Feer #1
(ST &9 (a) SsfFfea
(ii) @R gt (b) Peater
(i) SeiteT Sr3R 3R | (c) Bhehe
(iv) 2iFg &9 (d) grehr
Options :

L. ® (i)-(a), (i)-(b), (iii)-(c), (iv)-(d)
2. % (i)-(b), (i)-(c), ((i)~(d), (iv)-(a)
3. % ()~(c), (iD)-(d), (iiD)-(a), (iv)-(b)
4.9 (D)-(d), (iD)-(c), (iii)-(b), (iv)-(a)
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Question Number : 41 Question Id : 9679472061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical
Correct Marks : 1 Wrong Marks : 0.25

: o 33 303 333 3
Which of the following isequalto 3 + — + + + ?
10 100 1000 10000

Options :



| % 0.0675
, % 66.633
3 9.6633
4 % 3.672

Question Number : 41 Question Id : 9679472061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jgfeiad § 9 o I 9E 3+E+E+ﬁ+ P PR E?

100 1000 10000

Options :
1. % 0.0675

, % 66.633
3 9.6633

4 % 3.672

Question Number : 42 Question Id : 9679472062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The LCM of two numbers is 140 more than their HCF. If the product of these two numbers is 4704, then find the sum of

their LCM and HCF.
Options :
1. % 420

» % 280



3 % 210

4 196

Question Number : 42 Question Id : 9679472062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l G BT LeM 3Td HCF Y 140 A4S 81 Tl 5 & TH131 61 UAEE 4704 8, A 3778 LCM 3R HCF I
ANTHd JId DI

Options :
1. % 420

5 % 280
3 % 210

4 & 196

Question Number : 43 Question Id : 9679472063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is equalto 16 X (10)_4 ?
Options :
% 4% (10)72

) % (20)7

3 % 160000



4. <

Question Number : 43 Question Id : 9679472063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

FoffEa d 9 &M 16 x (10) " F TR g2

Options :
L% 4x(10)7

) % (2007

3 % 160000

1
@*

4v 5

Question Number : 44 Question Id : 9679472064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number 417k52p such that it is divisible by 72.
Options :

1. % 4178520

7 % 4170528

3 4179528



4 % 4179529

Question Number : 44 Question Id : 9679472064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

72 Y a1 81H arell 9ay gal T 417ks2p F1d IO
Options :

1. % 4178520

» % 4170528
3 & 4179528

4. % 4179529

Question Number : 45 Question Id : 9679472065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shweta scored 78% marks in an examination. Neha scored 32 marks more than Shweta in the same examination. If
Neha scored 82% marks, then how many marks did Shweta score?
Options :
1 % 800



Question Number : 45 Question Id : 9679472065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST =1 U GRIE H 78% 3feh WK fhu| =1gT = il It uien & &a1 4 32 sieb 21 Wi | afe =8l - 8206 3
Ut fou, Af ot H foeae 3idh e fhue

Options :

l.pw 800

Question Number : 46 Question Id : 9679472066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper gains 20% by selling an item for 2240. What is his gain (in Z)?
Options :

1 % 20

2 o 40
3 % 060

4 % 30

Question Number : 46 Question Id : 9679472066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



U GG fdrdl a%d dl 2240 H STHR 20% BT A Ut Dl 6 | ST ATH (2 H) a1 g2
Options :
1 % 20

2.¢ 40
3 % 060

4. % 30

Question Number : 47 Question Id : 9679472067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The monthly incomes of A and B are in the ratio of 4 : 3 and their expenditures are in the ratio of 7 : 5. If each one of

them saves 316,000 per month, then what is the income of B (in %)?
Options :
|« 96,000

5 % 32,000
3 % 50.000

4 % 85,000

Question Number : 47 Question Id : 9679472067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B & AR 3T 4:3 & U H g R 37 Gl & 997 7:5 & f01d 1 g1 9fe 370 4 s Ufd O1e
216,000 B! §9d Dl §, dl B DI 39 (2 H) fooa-l g2



Options :
| & 96,000

5 % 32,000
3 % 50.000

4 = 85.000

Question Number : 48 Question Id : 9679472068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sold an article to B at a profit of 20% and B sold it to C at a loss of 15%. C sold it to D at a profit of 20%. If A’s profit
is Z50 less than that of C, then at what price (in ¥) did B buy the article?

Options :
| % 12,500

5 % 13.500
3 » 15,000

4 % 16,000

Question Number : 48 Question Id : 9679472068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BHI TP G 20% b AH WS4 AR B A 3Y € DI 15% DI g1 R &4 f&a| ¢ 7 1 3! a¥g ol 20% & aH
WD P S AN A AT AH CcH AH Y 250 HH @, Al B (b9 HIHd R (2 H) I8 WG

Options :



| % 12,500
5 % 13,500
3 v 15,000

4 % 16,000

Question Number : 49 Question Id : 9679472069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 5 years, a sum of 222,000 becomes 28,600 on simple interest. Find the rate percentage of interest.
Options :

1. % 5%
7 o 6%
3. % 7.5%
4 % 8%

Question Number : 49 Question Id : 9679472069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 g1 H. 222,000 I TR TR SF6T TR 228,600 B Wil o | 101 &I g2 UILd H J1d Hiford|

Options :

1. % 3%

o d 6%



4. % 8%

Question Number : 50 Question Id : 9679472070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum becomes Z1,33,100 after 3 years and 21,61.051 after 5 years on compound interest. If the rate of interest

is increased by 2% per annum, then find the compound interest on the same sum for 2 years.
Options :

1. % 323,440

2. % 321,750

3. % 324,500

4. % 325,440

Question Number : 50 Question Id : 9679472070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (AT IR Tshafes sUMeT IR 3 a8 & 16 21.33,100 3R 5 G4 & &1G 21.61,051 B 9Tl & | Afe; o411 1 a2 H Ufd
ay 29, Bl i 1 Sl 8, Il T AT IR 2 81 o [T Tehgieg SIS 1A DI |

Options :

1. % 323,440
2. % 321,750
3. % 324,500
4. % 325,440

Question Number : 51 Question Id : 9679472071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



A and B together can do a work in 10 days. If A alone can do the same work in 15 days, then in how many days can B

alone do 50%: of the same work?
Options :
1. % 12

) ® 14

3.¢ 15

4 % 18

Question Number : 51 Question Id : 9679472071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B TSR U &1 Bl 10 ] # B Thd | TG A B I B &I 15 &A1 § B Thdl 8, Al B fdbal
3T B BT 502 fob= oA 7 = Ihar g2

Options :

1% 12

) # 14
3.9 15
4 % 18

Question Number : 52 Question Id : 9679472072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man can row at the speed of 8 kim/'h in still water. It takes him 50% more time to row upstream than to row the same

distance downstream. Find the speed of the stream (in km/h).



Options :
1. % 1.5

2.¢ 1.6

3. % 1.75

[E]

Question Number : 52 Question Id : 9679472072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Hidk] (R e H 8 ky/h B1 71T Y 19 Il Hebdl 8| 39 YR1 & Ui SH H URI & 3% SiF &1 gertl §
50% e TG T ¢ | YRT ! M (kn'h H) F1d Bifog|

Options :

1. % L35

2.¢ 1.6

3. % 1.75

[E]

Question Number : 53 Question Id : 9679472073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the average of 7 smallest square natural numbers.
Options :

1. % 29



Question Number : 53 Question Id : 9679472073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 Gad BICT G YIS icid TReAT3! &1 {1 Ed J1d BT |

Options :
1. % 29

Question Number : 54 Question Id : 9679472074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find a single discount equivalent to a series of discounts of 10%, 15% and 20%.
Options :

1. % 40%

7 « 38.8%



Question Number : 54 Question Id : 9679472074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

10%, 15% 3R 20% HI BT & HH o SIS Ul Fe A I
Options :
| % 40%

7 « 38.8%

Question Number : 55 Question Id : 9679472075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rectangle whose sides are in the ratio of 1 : 3 and a square have equal perimeters. Find the ratio of the area of the
rectangle to the area of the square.

Options :

1% 1:1

b
b
—_
I



Question Number : 55 Question Id : 9679472075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT fT®! YolTd 1:3 & 307d H § 3R 98 U ¥ & UREY GHF g | T 1ad & &% &I 0¥ & &5 9
3O 1 DI

Options :
1% 1:1

o 3.4

b
#
—_
I

Question Number : 56 Question Id : 9679472076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a rectangular park with dimensions 250 m = 150 m, a 2.5m-wide path running along inside the rectangular park is to
be constructed. Also, 2m-wide paths are to be constructed in the centre of the park, one parallel to its length and the

other parallel to its breadth. Find the cost of constructing the paths at the rate of 80 per sq. m.
Options :

| % 32,20,000

5 % 2,10,800

3 v 22.20.080



Question Number : 56 Question Id : 9679472076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

250 m * 150 m T4 a1t U ISR Ulds H, AATHR Gl & e ga- a1dl 2.5m Tre] IRl G914 S ¢ |
1Y B, Ul o Al H 2m A1g I L O &, U SB[ Afallg & GHMIR 3R GERT 5H®! dIsTg B SHHIR ¢ |
280 per sq. m P &2 Y YRl DI § H @ aTell ARId J1d Iforg|

Options :
| % Z2.20.000

5 % 22.10.800
3 v 22.20.080

4 % 32,22,500

Question Number : 57 Question Id : 9679472077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sides of a cuboid are in the ratio of 2 ; 3 : 4. If its total surface area is 468 sq. cm, then what is its volume (in cubic

cm)?

Options :
1« 648
h ® 0624

3 % 672

4 % 612



Question Number : 57 Question Id : 9679472077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS YT DI YOITU 2:3:4 & U H €1 IS THPB1 $& YN &FHT 468 sq. om B, Tl BT HFT
(99 cmd) ﬁ'ﬁ:ﬂ%“

Options :
. 648

, % 624
3 % 672

4 % 612

Question Number : 58 Question Id : 9679472078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data in the following table shows hour-wise distance covered by Amit on a day on his bike from 9 am to 2 pm. What distance (in km) did Amit cover
from 10 am to 1 pm?

Time 9 am— 10 am 10am- 11 am 11 am— 12 noon 12 noon— 1 pm l pm -2 pm
Distance 40 32 42 0 35
(in km)

Options :
1. ® 72

2.¢ 74
3. % 114

4 % 112



Question Number : 58 Question Id : 9679472078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 713 aifdieT H 3Hiebe iHd GRI 3101 §156 W U (4 H g o 91 Y glUel 2 §6 e He & feqE I 9 i g
&l @ i & | Al 3ifHd A Yo 10 9o Y EIUER | S0 ddb fdbat g3l (in km) T4 I ol

HHY o am —10 am 10am —11 am 11 am —12 noon 12 noon-1 pm | pm -2 pm
(-l 40 32 42 0 38
(in km)

Options :
1. % 72

2'\&? 74

3 % 114

4 % 112

Question Number : 59 Question Id : 9679472079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the number of caps (in dozen) of different colours manufactured and sold by a dealer in a day. Caps of which colour
have maximum stock lying with the dealer?
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Colour of Caps

Options :
1. % White

> % Blue
3 « Black

4. % Green

Question Number : 59 Question Id : 9679472079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



FOfRad IR U1% U 6 H U AUR] (S1AR) GRT 9415 ofH ardil 2R St o areil faf e 31 &1 eifudl (goid )
&I o Bl i g1 al foog T 1 it &1 T 1Sl T Siek o U &2

ot

E=R ol RPN ST - - - R B

o @ TE (Goi H)

Options :

% TS
2. % Il
3. v DI
sx B

Question Number : 60 Question Id : 9679472080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the subject-wise enrolment in a university in a year. Total enrolment in the university is 7560. If the ratio of the number
of male students to that of female students in Humanities is 3 : 4 and the ratio of the number of male students to that of female students in Law is 5 : 2,



then the number of male students in Humanities is what percentage more than the number of male students in Law (correct to two decimal places)?

Science
E4|:|

Computer
Science

Humanities

Options :
1. % 11.25%

2 % 12.45%

3 v 11.43%

4. % 112.26%

Question Number : 60 Question Id : 9679472080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 11.25%

) % 12.45%
3 v 11.43%

4. % 112.26%
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Question Number : 61 Question Id : 9679472081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

These mangoes are too cheap too be good.
Options :

1. * to been

2. % tobe

3. % too being

4. % No improvement

Question Number : 61 Question Id : 9679472081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

These mangoes are too cheap too be good.
Options :

1. #* to been

2. % tobe

3. % too being

4. % No improvement

Question Number : 62 Question Id : 9679472082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

So far, the police investigation have drawn a blank in Arjan’s case.
Options :

1. % has drawn

2. % has drew

3. ® have draw

4. % No improvement

Question Number : 62 Question Id : 9679472082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

So far, the police investigation have drawn a blank in Arjan’s case.
Options :

1. ¥ has drawn

2. % has drew

3. # have draw

4. % No improvement

Question Number : 63 Question Id : 9679472083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

Vitamins are complex compounds that the human body requires to normally.
Options :

1. % behave

2. ¥ function

3. ®* move

4. % regulate

Question Number : 63 Question Id : 9679472083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vitamins are complex compounds that the human body requires to normally.
Options :

1. # behave

2. ¥ function

3. * move

4. % regulate

Question Number : 64 Question Id : 9679472084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct homonym pair to be filled in the following sentence:

Ramola said she would soon the translation of the poems in language. Sita said to the teacher that she will her work tomorrow
while Ram was speaking language.
Options :

1. % finish, Finnish, finish, Finnish
2. # finnish, Finish, finnish, Finish
3. # finish, Finish, finish, Finish

4. #* finnish, Finnish, finnish, Finnish

Question Number : 64 Question Id : 9679472084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the correct homonym pair to be filled in the following sentence:

Ramola said she would soon the translation of the poems in language. Sita said to the teacher that she will her work tomorrow
while Ram was speaking language.
Options :

1. % finish, Finnish, finish, Finnish
2. # finnish, Finish, finnish, Finish
3. * finish, Finish, finish, Finish

4. # finnish, Finnish, finnish, Finnish

Question Number : 65 Question Id : 9679472085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

I would have /bought you a nice gift/ if | knew/ it was your birthday
Options :

1. ¥ T would have

2. % bought you a nice gift

3. ¥ if [ knew

4. % it was your birthday

Question Number : 65 Question Id : 9679472085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

I would have /bought you a nice gift/ if | knew/ it was your birthday
Options :

1. #* I would have

2. % bought you a nice gift

3. ¥ if [ knew

4. % it was your birthday

Question Number : 66 Question Id : 9679472086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

I shall wrote another letter to my boss tomorrow.
Options :

1. % wrote

2. # another

3. % to

4, ¥ tomorrow

Question Number : 66 Question Id : 9679472086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

I shall wrote another letter to my boss tomorrow.

Options :

1. ¥ wrote
2. # another
3. % to

4, ¥ tomorrow

Question Number : 67 Question Id : 9679472087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

He had no choice  to quit.
Options :

1. ®* and

2. ¥ but

3. % or

4. * nor



Question Number : 67 Question Id : 9679472087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

He had no choice  to quit.
Options :

1. % and

2. ¥ but

3. % or

4. * nor

Question Number : 68 Question Id : 9679472088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate ANTONYM of the given word.

diverse
Options :

1. #® varied
2. # sundry
3. ¥ similar

4. % lateral

Question Number : 68 Question Id : 9679472088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate ANTONYM of the given word.

diverse
Options :

1. % varied
2. % sundry
3. % similar

4. % lateral



Question Number : 69 Question Id : 9679472089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.

Measuring the dosage of the medicine with teaspoons may result in an overdose or under dose.
Options :

1. % inadvertent

2. %* inadvartent

3. # inadvertant

4. % inadvertaint

Question Number : 69 Question Id : 9679472089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.

Measuring the dosage of the medicine with teaspoons may result in an overdose or under dose.
Options :

1. ¥ inadvertent

2. % inadvartent

3. # inadvertant

4. % jnadvertaint

Question Number : 70 Question Id : 9679472090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option with the correct spelling.
Options :

1. ¥ Unaccustomed

2. % Unacustomed

3. # Unaccusttomed

4. ®¥ Unacusstomed



Question Number : 70 Question Id : 9679472090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option with the correct spelling.
Options :

1. % Unaccustomed

2. % Unacustomed

3. ¥ Unaccusttomed

4. # Unacusstomed

Question Number : 71 Question Id : 9679472091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

Path followed by a planet or moon around another body
Options :

1. ¥ Orbit

2. % Asteroid

3. #® Galaxy

4. % Meteor

Question Number : 71 Question Id : 9679472091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

Path followed by a planet or moon around another body
Options :

1. % Orbit

2. % Asteroid

3. % Galaxy

4. % Meteor



Question Number : 72 Question Id : 9679472092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is of no use to build castles in the air. Do something solid. What does an idiom “to build castles in the air” mean?
Options :

1. ¥ To have silly hopes and dreams

2. % To destroy something

3. ® To speak only and do nothing

4. % To build castles

Question Number : 72 Question Id : 9679472092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is of no use to build castles in the air. Do something solid. What does an idiom “to build castles in the air” mean?
Options :

1. ¥ To have silly hopes and dreams

2. % To destroy something

3. ® To speak only and do nothing

4. % To build castles

Question Number : 73 Question Id : 9679472093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the following sentence.

The price of onions never seems to go down.
Options :

1. # torise

2. % to change

3. ¥ to fall

4, % to control

Question Number : 73 Question Id : 9679472093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the following sentence.

The price of onions never seems_to go down.
Options :

1. * torise

2. % to change

3. % to fall

4, % to control

Question Number : 74 Question Id : 9679472094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. arranged all the things and gave invitation to all other colleagues but felt

Q. very depressed that all hotels and restaurants were booked

R. we decided to give a surprise birthday party to our colleague

S. and could not find any alternative, so we simply greeted him and felt sorry .

Options :

1. ¥ PSQR
2. % SPRQ
3. ¥ RPQS
4. % QPSR

Question Number : 74 Question Id : 9679472094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. arranged all the things and gave invitation to all other colleagues but felt

Q. very depressed that all hotels and restaurants were booked

R. we decided to give a surprise birthday party to our colleague

S. and could not find any alternative, so we simply greeted him and felt sorry .

Options :



1. % PSQR
2. % SPRQ
3. ¢ RPQS
4. % QPSR

Question Number : 75 Question Id : 9679472095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P.as people were fascinated with moving pictures of the persons
Q. and the long-lasting audio-visual effect

R. with the coming of television, radio sets were least preferred
S. motivate people to buy it according to their budget

Options :

1. ¥ RQPS
2. ¥ RPQS
3. % SQPR
4. % PQSR

Question Number : 75 Question Id : 9679472095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P.as people were fascinated with moving pictures of the persons
Q. and the long-lasting audio-visual effect

R. with the coming of television, radio sets were least preferred
S. motivate people to buy it according to their budget

Options :

1. ¥ RQPS

2. ¥ RPQS

3. % SQPR

4. % PQSR

Sub-Section Number : 2



Sub-Section Id : 967947125
Question Shuffling Allowed : Yes

Question Id : 9679472096 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

While there is no denying that the world loves a winner, it is important that you recognize the signs of stress in your behaviour and be healthy enough to
enjoy your success. Stress can strike anytime, in a fashion that may leave you unaware of its presence in your life. While a certain amount of pressure is
necessary for performance, it is important to be able to recognize your individual limit.

Stress is a body reaction to any demands or changes in every person’s internal and external environment. Whereas natural disasters, pollution, accidents,
or extreme weather may lead to outward stress, competition, insecurity, jealousy and failure create psychological stress as well. Stress affects differently
at different stages of life. The loss of a toy or a reprimand from the parents might create a stress shock in a child. An adolescent who fails an
examination may feel as if everything has been lost and life has no further meaning. In an adult the loss of his or her companion, job or professional
failure may break his spirit.

Stress affects the attitude and behaviour of the individual, leading to muscle tension and body pain, palpitation and high blood pressure, indigestion and
hyperacidity. Other manifestations of stress are trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

Stress lowers an individual’s performance capacity. Persistent and increasing stress may result in chronic fatigue in which a person feels lethargic,
disinterested and is not easily motivated to achieve anything. This may make the person mentally undecided, confused and accident-prone as well.
Sudden exposure of unnerving stress may also result in a loss of memory.

Diet, massage, herbal medicines, hobbies, prayer, music and dance are common ways to cope with stress, but meditation techniques and exercise are key
to manage and reduce stress and depression.

Sub questions

Question Number : 76 Question Id : 9679472097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is the idea of ‘the world loves a winner’ not necessarily good for us?

Options :

1. % Endlessly chasing success often leads to high levels of stress and damage in the body.
2. % The concept of success is detrimental to a person’s health.

3. # Being successful is a sure-shot path to an early grave.

4. % Tt is essential to win every professional battle



Question Number : 77 Question Id : 9679472098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the following sentence:
Natural disasters, pollution, accidents and extreme weather a person’s stress levels considerably.

Options :

1. # Infect
2. ¥ Affect
3. #® Effect
4. % Defect

Question Number : 78 Question Id : 9679472099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the phrase break his spirit mean?

Options :

1. # To strike someone until the person collapses

2. % To kill someone in a cruel manner

3. ¥ To destroy someone’s morale and demoralize them

4. % To realize that the spirit has a physical shape

Question Number : 79 Question Id : 9679472100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option closest in meaning to the following word:

Lethargic
Options :

1. ®* Engaged
2. % Articulate
3. ¢ Torpid

4. ® vyivacious

Question Number : 80 Question Id : 9679472101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which methods are strategically crucial for stress reduction?
Options :

1. % Hobbies and diet

2. ¥ Meditation and exercise

3. #® Prayer and massage

4. % Music and dance

Question Id : 9679472096 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

While there is no denying that the world loves a winner, it is important that you recognize the signs of stress in your behaviour and be healthy enough to
enjoy your success. Stress can strike anytime, in a fashion that may leave you unaware of its presence in your life. While a certain amount of pressure is
necessary for performance, it is important to be able to recognize your individual limit.

Stress is a body reaction to any demands or changes in every person’s internal and external environment. Whereas natural disasters, pollution, accidents,
or extreme weather may lead to outward stress, competition, insecurity, jealousy and failure create psychological stress as well. Stress affects differently
at different stages of life. The loss of a toy or a reprimand from the parents might create a stress shock in a child. An adolescent who fails an
examination may feel as if everything has been lost and life has no further meaning. In an adult the loss of his or her companion, job or professional
failure may break his spirit.

Stress affects the attitude and behaviour of the individual, leading to muscle tension and body pain, palpitation and high blood pressure, indigestion and
hyperacidity. Other manifestations of stress are trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

Stress lowers an individual’s performance capacity. Persistent and increasing stress may result in chronic fatigue in which a person feels lethargic,
disinterested and is not easily motivated to achieve anything. This may make the person mentally undecided, confused and accident-prone as well.
Sudden exposure of unnerving stress may also result in a loss of memory.

Diet, massage, herbal medicines, hobbies, prayer, music and dance are common ways to cope with stress, but meditation techniques and exercise are key
to manage and reduce stress and depression.

Sub questions

Question Number : 76 Question Id : 9679472097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is the idea of ‘the world loves a winner’ not necessarily good for us?
Options :



1. ¥ Endlessly chasing success often leads to high levels of stress and damage in the body.
2. % The concept of success is detrimental to a person’s health.
3. # Being successful is a sure-shot path to an early grave.

4. % Tt is essential to win every professional battle

Question Number : 77 Question Id : 9679472098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that completes the following sentence:
Natural disasters, pollution, accidents and extreme weather a person’s stress levels considerably.

Options :

1. ¥ Infect
2. v Affect
3. ¥ Effect
4. ® Defect

Question Number : 78 Question Id : 9679472099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the phrase break his spirit mean?

Options :

1. # To strike someone until the person collapses

2. % To kill someone in a cruel manner

3. ¥ To destroy someone’s morale and demoralize them

4. % To realize that the spirit has a physical shape

Question Number : 79 Question Id : 9679472100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option closest in meaning to the following word:

Lethargic
Options :
1. ¥ Engaged
2. % Articulate



3. ¢ Torpid

4. # vyivacious

Question Number : 80 Question Id : 9679472101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which methods are strategically crucial for stress reduction?
Options :

1. % Hobbies and diet

2. ¥ Meditation and exercise

3. # Prayer and massage

4. ¥ Music and dance
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Question Number : 81 Question Id : 9679472102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferaa & & fr area & Iferd form - gl 1 v gan ©-
Options :

1. QU gl ; AT gR-4IR 30 &Y bt 3R 1 & |

2. % T gorT : TN e AR SR Y ) IR W |

3. % T g :- AT efR-4R 30 WRT BT 3R & Al |

4. % TR T - AT &R eflR S0 R B 3R S |

Question Number : 81 Question Id : 9679472102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifad & § forg areg § Sfad favm - foegl &1 v gan &-
Options :

1. AR gafm ; a7 fR-¢fiR 3o oRi & SR S @ |

2. % YR ol : AT IR &R 30 &R 1 3R S &l |

3. % I gofT :- AT efR-R 30 WRY BT 3R o1 A |

4. % TR T - ANT &R &R S R B 3R SH |

Question Number : 82 Question Id : 9679472103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 7 9 P 1 eg dEH TE1 8 2
Options :

1. % B

2. % T&



3. % 9d
4.9¥3C

Question Number : 82 Question Id : 9679472103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 & 9 DI 1 XMeg dT8H a1 © 2
Options :

1. % B0

2. % 0

3. % 94

4.43¢

Question Number : 83 Question Id : 9679472104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad Tarmf wrsal & § fory Weg I THRIEHAT SIS Bl &7
Options :

1. % 3fHHH

2. % gy

3. ¥ T4

4. % gHS

Question Number : 83 Question Id : 9679472104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRaa Tarmf wrsal & § ford Weg I ThRIEHAT SIS Bt &7
Options :

1. % 3fHHEH

2. % gy

3. ¥ T4

4. % gHS




Question Number : 84 Question Id : 9679472105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 319 feedt 7 2 - I § 1 91 fovm g &k
Options :

1% (1 gof favm g

2. (?) YT g

3. % () 31 favH g

4. % () 3cy favmw fog

Question Number : 84 Question Id : 9679472105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 31 feeeh 78 & - g § o a1 favm fag @
Options :

1. % () gof fRm g

2. (7) UydE® g

3. % () i fvm o

4. % () 3cy favmw fug

Question Number : 85 Question Id : 9679472106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt Aurdt FR1ar wem fa 3 - areg # forg favm g &1 wranT fasan g2
Options :

1. * GBI Il g

2. % fawaneaTy® g

3. % JaTexul g

4. ¥ 3HERT IV g

Question Number : 85 Question Id : 9679472106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

Terid BTt R He wfa A - areg | ford favm forg &1 T foean man g2
Options :

1. % GgYI Jexvl g

2. % fyumnieaives fog

3. % ITERUI ferm

4. ¥ THET IV %

Question Number : 86 Question Id : 9679472107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
el o 8 & -

Options :

1. %

2. =

3. % '+

4. % o

Question Number : 86 Question Id : 9679472107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
o0 gIe g © -

Options :

1. %~

2. =

3. % ¢

4. % o

Question Number : 87 Question Id : 9679472108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg Sreg O+ ST ' TR B2

Options :



1. % 3t
2. % gHEIg
3. ¢ fRrart
4. % HeAr

Question Number : 87 Question Id : 9679472108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg Sreg H + ST U B2

Options :

1. % a3t

2. % UM

3. ¢ fRram

4. % el

Question Number : 88 Question Id : 9679472109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
o <real & 9 fae=i weg Bifey
Options :

1. ¢ qHI

2. % dU[H

3. % 7Yy

4. % dgaf

Question Number : 88 Question Id : 9679472109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 Tregl & ¥ fa=h 2reg Bifce
Options :

1. ¢ %I

2. ® dU[h



3. % YA
4. % dgaf

Question Number : 89 Question Id : 9679472110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y5-I “HUUL-SHUTIOP & 370 HT Iferd fawed § —
Options :

1. ¢ arafery-fagargut Hiyor

2. % RAM-aTdTA™

3. ® YYUL-RSATT

4, % YRAM- fagaryul HIyor

Question Number : 89 Question Id : 9679472110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yeq-JiH “THTIUL- U & 312f-9g o1 Ifad favea g —
Options :

1. ¢ adiary-fagmmyof Hror

2. % RAM-aTdTa™

3. ® YYUL-IRSAT

4. % TEA- fagamgof o

Question Number : 90 Question Id : 9679472111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T — AR w3 H e N &) UgaTu-
Options :

1. ® JHLGR — ATHHI

2. % QY - qW

3. ¢ ATHHY — 39

4. ® AN - AHAA




Question Number : 90 Question Id : 9679472111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T — MR PHard H Yer Ve HI ugaL-
Options :

1. % JHIGR — ATHHA

2. % QY - qW

3. % AIHHYA — A

4, % 3N - ATHHA

Question Number : 91 Question Id : 9679472112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & 9 S Wes grewaEr diadid @ 2
Options :

1. % ARgd

2. ¥ HIJd

3. % QoI

4. % HA

Question Number : 91 Question Id : 9679472112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad & 9 ST Weg TR dladid § 2
Options :

1. % ARgd

2. ¢ HIJd

3. % QoI

4. % HAE

Question Number : 92 Question Id : 9679472113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafaRad <real & I wifeiT Xsg 51 o--
Options :

1. % AR

2. ¥ RIR

3. ® G-l

4. % d¥d

Question Number : 92 Question Id : 9679472113 Question Type
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
Profd wieel 3 Wi Treg T8 2--
Options :

1. % SR

2. ¢ WIR

3. ® Y-l

4. % d¥d

Question Number : 93 Question Id : 9679472114 Question Type
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefad wreal & @ GfiT Tree 8-
Options :

1. = Xd

2. % dId

3. % Hid

4. % dId

Question Number : 93 Question Id : 9679472114 Question Type
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad rsal # Ui Teq -

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



Options :
1. ® 30d
2. % dId
3. ¥ YId
4. % dId

Question Number : 94 Question Id : 9679472115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T3 T o ¥ Ygad A g -

Options :

1. % I 39 B d H Ugl Sl 3 Td & e |
2. % g BT QR HR STl dlfcs T4 Ug |

3. % 99 H4 gHRI df 98 U I8 T

4.+ 9% BR T, TR T8 My P 91 3|

Question Number : 94 Question Id : 9679472115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT M gl 7 § WG AT g -

Options :

1. % I 39 WHd | Ul ol I 71d & e ol
2. % g 1Y QR HR STl dlfs U= 4 Ug |

3. % 99 T YHRI Al 98 U I8 T4

4. ¥ 9% BR T, U T8 31 &1 91 5

Question Number : 95 Question Id : 9679472116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T2 Tt 7 9 iy e 51 B

Options :

1. % §q dob TR1ef o7 o 81 3111 U1 99 dh ST T 31&R 8! Ugr |



2. ¢ TR UN 18 &1 UG Bls SUSR ol 5|
3. % g T fagmr & o ot XY SRyt SemgTaTe U &t S|
4. % 90T I ITH BT X U1, AR T

Question Number : 95 Question Id : 9679472116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T gt © iy arRr 8T 5

Options :

1. % T dPb GRI&T o1 [ g1 3T YT 99 db 39 T &R ol Ugl T
2. ¢ TR U TR & I $Is SUGR o1 5|

3. % gie & faqmr & w oY A% o1f Ryl gamgraTe 9 & e

4. % GUI S MY BT R AT, TR

Sub-Section Number : 2
Sub-Section Id : 967947127
Question Shuffling Allowed : Yes

Question Id : 9679472117 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

T Dl UgHR Taferd U BT IR Giiod |

"R g1 9 R R 79 BI' - Ig dfekd AIa 1 IRUM el & fob T 0 Y, Al gH ol i, Fhar, fRia-=ite uroft 811 afe uRfRufadt 3 g
30 &I T XA | ST Ug dTs & U1 B! = AN 3o PR &A1 8 dl FFRIRN BT HH-Hl a1 52 MR 31ard 3R uiRe ¥ Iihad Sfa=d
|

R A &1 S TRIfeRT foraTt deract g, SHHT HH I 81 £ IR YeheudT= gR | 3! WK & o IR A I8 Gl feki UIed X oIl §
forTes 3T BRYST ekt TaHe BId g | AP HeTeH Mo H +f 7t ekt o1 3 S =g A 981 giehn Tl 2 ) b 31 FaHdap g o
Y| TE e I8 WURV A ¥ SHW I3 8

T IR BT G S Td, AR 3R <A 371 & | Sl 79 deb 81 GRAT oTd e b IHebT 7 bl TH # BR g1 HIF oidll | 380 HRU
fraRar safda g UG & 79 &) Taa, SRR, STareid 7 811 31 &1 IR0 4 § | Idd § 7 &1 £¢ YheuRIfad 3RIHT &l JHd &1 Tobal g |

Sub questions

Question Number : 96 Question Id : 9679472118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation



: Vertical
Correct Marks : 1 Wrong Marks : 0.25

R B 9 R SR 79 B I8 Ufdd A9 bl T OROM Sl | 2
Options :

1. T4 &) oitaq 8 e} FRmer =1t g =Ry

2. % ORI 7™ &1 967 U - | ST Ugardt g |

3. % Y HI A I gl g |

4. % RYP A AT B R B

Question Number : 97 Question Id : 9679472119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

AGD - hAdl b DIH-Y IU IdE 52
Options :

1. % gRffoal I I are
2. % g =fgq

3. ¢ fARaR 3y ok ufem
4. % R g

Question Number : 98 Question Id : 9679472120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora 2fed & 90 R A9 ¢t Wfed T R 3AdT 82
Options :

1. % gRyH

2. % SR=hdl

3. ¥ TG TR

4. % =it

Question Number : 99 Question Id : 9679472121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, STRe® 3R T 8141 foharehT T[0T ST 71T 87




Options :

1. % HI Pl

2. % HTE el off 1
3. % R pl

4, HA D]

Question Number : 100 Question Id : 9679472122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITRT &1 qatferes Iugad Mt 31 8 avdl &7
Options :

1. ®# Tg P

2. ¥ T F SiId oiid &, A9 & BR 8R

3. % URYH T HEA

4. % gyl R faoR

Question Id : 9679472117 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

TRITR P Ugahx T fdd U BT 3R SIfoTg |

"R g1 9 R 3R 79 BI' - I dfckd Aa 1 IRON elt & fob T T Y, A gH ol RN, S, fRiaw=ita uroft 811 afe uRkfRufadt 3 g
30 TET U & | ST UG aTs § aUl Hio-Agal = AT A% B 61 g ol FRIRN BT HIH- 1d 52 FRAR a3k uRym J Twherd! $ia=a
|

For T 1 S TRIfRT fora1t Saracht g, SHdT HH I 81 €6 IR Ybeqd aRT | S AT & 9 IR A I8 ¢dl Wik U B adl §
forTads 31T RIS faRd TTHEID i & | IETUTT HeTeT reitstt # +ff 7 =fa 2| o ot A1gd & I8t Biar o7l X 4} I ST TP Bid ¢
Y| T e I YR A7 § SHWR 3T g

T YRR BT e AP F9d, TR 3R =T 31T & | AT I8 I 51 GRA e dob 1o IHbT 7 bl 18 H §R g A ol | S SR
faeRam afad g fRUfa & 79 & 99d, SIfRR, STarsid 9 811 &1 &1 IRUT 24 € | add & 74 &1 £¢ Yheuxiiad U &l THT 91 Jhelt o |

Sub questions

Question Number : 96 Question Id : 9679472118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical



Correct Marks : 1 Wrong Marks : 0.25

R 1 7 RIS &R0 79 S Ig Ufdd HTd &1 9T OROT el § 2
Options :

1. ¢ HHd B Sitad | St FR1=1 =78 g anfg ey

2. % TR A &1 A6 T = H 14T Ugare & |

3. % I BT U4 I gl |

4. % RPN T DI R

Question Number : 97 Question Id : 9679472119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG = AT &b DIH-9 U §dTU 82
Options :

1. % ORIAYTTTT A Iaas a1e

2. % It ifda

3. ¢ FRAR 3y ofiR ufReyd

4. % fRR g

Question Number : 98 Question Id : 9679472120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Tifad o 9 TR A9 ¢d Vfad U HR odl 82
Options :

1. % ORyH

2. % SR=chdl

3. ¢ ¢ SBRATG

4. % fRaTiteran

Question Number : 99 Question Id : 9679472121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation
: Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, SITRe 3R < 8141 foraresT T[0T ST 71T 82
Options :




1. % O &1
2. % HETHT Tl oft BT
3. % T HI
4. & A E]

Question Number : 100 Question Id : 9679472122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITRT &1 At Sugad XY o1 g1 Tahal 82
Options :

1. % Eg Uy

2. ¢ 9 & Sitd oiid §, 79 & R R

3. % URYH BT Hed

4. % qrursfl W faorg
Disciplinel

Group Number : 6

Group Id : 967947106

Group Maximum Duration : 0

Group Minimum Duration : 0
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Group Marks : 20
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Disciplinel

Section Id : 967947106
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Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 967947128
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9679472123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What would be the proportion of AAbb individuals in a cross between two AaBb individuals?
Options :

1. * 1/64

2.¥ 1/16

3.% 1/4

4. % 3/16

Question Number : 101 Question Id : 9679472123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l AaBb Hfaqdl & a1 Udh BT (h14) H AAbb Al BT 4T T G2
Options :

1. * 1/64

2.9 1/16

3. % 1/4

4. % 3/16

Question Number : 102 Question Id : 9679472124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Conversion of Glucose to Pyruvate takes place during the:
Options :

1. % citric acid cycle



2. % Calvin cycle
3. ¥ glycolysis

4. % Gluconeogenesis

Question Number : 102 Question Id : 9679472124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ISl BT UTgede | URad fbde SR gid 82
Options :

1. % Gigfcedh 3 oIch

2. % Bicd dqh

3. TSI

AN N o

4, ® IGHIHANSHEH

Question Number : 103 Question Id : 9679472125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A plasmid vector used in recombinant DNA technology has all of the following features, EXCEPT:
Options :

1. # unique restriction enzyme sites

2. % DNA ligase coding genes

3. # selectable marker genes

4. % origin of replication

Question Number : 103 Question Id : 9679472125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y% DNA W 8 Uad U Wifods i o & Ryara Faffeaa auft faivan g 8|
Options :

1. # 3ffgdia ufaey TomeH ®Id (A150)

2. ¥ DNA WIS G (HIFST) i

3. % IO Oy I (HIHR) o=y

4. % Yiapid i S




Question Number : 104 Question Id : 9679472126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following plant parts is NOT derived from the zygote?
Options :

1. # Shoot apical meristem

2. % Hypocotyl

3. ¥ Endosperm

4. % Cotyledon

Question Number : 104 Question Id : 9679472126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad & § ©1F-91 9rey YT gl 9§ gdd e gidl 82
Options :

1. % TRIE (YC) Mo fqusa

2. % GUATYR

3. ¢ YUY

4. % §iV U

Question Number : 105 Question Id : 9679472127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Monocots, Monocotyledonae or Liliopsida belong to which of the following taxonomic ranks?
Options :

1. ® Family

2. % Order

3. ¥ Class

4. % Division

Question Number : 105 Question Id : 9679472127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Aoy, HieiicasH ar faferaitrer Fafifead & 9 foy afifet 4ot & Feiftd &2
Options :

1. ¥ od

2. % 1007

3./

4. % fqym

Question Number : 106 Question Id : 9679472128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases in plants is caused by Albugo species?
Options :

1. ¥ White rust

2. % Stem gall

3. ¥ Witches broom

4. % Late blight

Question Number : 106 Question Id : 9679472128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

arelt B fafafed & ¥ S1F-91 A7 Tegtl USTfd & HRUT BT 32
Options :

1. ¢ 9 fhg (White rust)

2. % Y fufeer (Stem gall)

3. % hdd m (Witches broom)

4. % facifad STERT (Late blight)

Question Number : 107 Question Id : 9679472129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Algal blooms are associated with:
Options :



1. # sexual reproduction
2. % pathogenesis
3. ¥ eutrophication

4. % parasitism

Question Number : 107 Question Id : 9679472129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9Tel TRGe fhads 1Y ST g3 82
Options :

1. % o1 g

2. % IS

3. ¢ AUyl

4. % TR

Question Number : 108 Question Id : 9679472130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does NOT contribute to the evolution of a species?
Options :

1. #* Migration

2. % Genetic drift

3. ¥ Acquired characters

4. % Natural Selection

Question Number : 108 Question Id : 9679472130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed & 9 HH-a1, U uofa & 9wy & dieH =8t <dT 82
Options :

1. % QYR

2. % 3TdfRIe =fa

3. ¢ JUIfoia 3ifreram



4. % Yipided g

Question Number : 109 Question Id : 9679472131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a normal distribution, what per cent of the population will lie between mean + 2 standard deviations?
Options :

1. ¥ 34%

2. % 68%

3. ¥ 95%

4. % 99%

Question Number : 109 Question Id : 9679472131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U G ded H, SH9S &1 fdhd-T Ufa=id A14 + 2 AH® fada-] & o g
Options :

1. %# 34%

2. % 68%

3.9 95%

4. % 99%

Question Number : 110 Question Id : 9679472132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 1% of the total genome consists of protein coding DNA sequences, the remaining 99% of the genome will consist of all of the following sequences,
EXCEPT:

Options :

1. * ribosomal RNA gene
2. # gatellite DNA

3. % promoter

4. % codon



Question Number : 110 Question Id : 9679472132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ha ST & 1% B UIEH He (IFET) DNA 3IHH BId €, df [ 999 - # o Ryara fFafaRad ot sy =mfia gi:
Options :

1. % JIERITAA RNA S

2. % 3 DNA (FCETRE DNA)

3. % Jadd (THIRR)

4. BISH

Question Number : 111 Question Id : 9679472133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represents the female gametophyte in angiosperms?
Options :

1. % Ovule

2. # Megaspore

3. % Egg cell

4. % Embryo sac

Question Number : 111 Question Id : 9679472133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § § SH-91, srgasten (CRTERTRT) & A1e] A ag (THICIHEE) & g0 #dl 82

Options :

1. % diole

2. % TBaIY]
3. % 38 DI
4. YOI BN

Question Number : 112 Question Id : 9679472134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Walnut plants secrete a chemical called juglone into the soil that inhibits the growth of other plants around it. This type of interaction is called:
Options :

1. # parasitism

2. # commensalism

3. ¥ amensalism

4, % mutualism

Question Number : 112 Question Id : 9679472134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RERIE P U1 gt o Sl A Ueh IUTT &1 19 B & Sl 39P UM & 30 Tt & fIHr Bl Ahel 81 39 UDHR & TR THIG B
1 BT STl 82

Options :

1. % URoifdar (parasitism)

2. % ggyiforar (commensalism)

3. ¢ g HIfoTar (amensalism)

4. % FEIUBING (mutualism)

Question Number : 113 Question Id : 9679472135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The resolving power of a light microscope can best be increased by:
Options :

1. * using monochromatic light

2. * increasing magnification

3. ¥ increasing numerical aperture

4. % using quartz lenses

Question Number : 113 Question Id : 9679472135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TR JEHERN &1 fave wfed &I Ty 373! RE I o ol 7 |

Options :




|. % TDhaull YhT BT IUINT Hh
2. % 3TdEH FGTHR
3. ¢ THATHD GRS (TURR) TGTHR

4. % PICS A4l BT SUART IRb

Question Number : 114 Question Id : 9679472136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During light reactions of photosynthesis, carotenoids play a role in the:
Options :

1. # evolution of oxygen

2. ¥ transfer of light energy to PSII reaction centre chlorophyll

3. # electron transport from PSII to PSI

4. % reduction of NADP

Question Number : 114 Question Id : 9679472136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR YRAYUT Bt YebTRT SATfharal & SR, PRIy FHufafad & ¥ fad ue yffre Ay 82
Options :

1. % SRS BT fdpra

2. ¢ PST Ufdifshdl g FARITel H UDHT Sl BT RIHIRUI

3. % PSII Y PSI Ao Faidg(H URagH

4. % NADP ¥ 3{U=gq

Question Number : 115 Question Id : 9679472137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The symptomatic treatment of genetic diseases of man is called:
Options :

1. % Eugenics

2. % Genetic engineering

3. # Genetic counselling



4. ¥ Euphenics

Question Number : 115 Question Id : 9679472137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H{¥ & NI CIRIED T & A&UTAD IUDR (symptomatic treatment) bl Had g
Options :

1. % goifeq

2. % AT SHYTiADT (Feiiaiam)

3. % 3fTdfRIes uRTRf

4. Gollaot (Ghi-e)

Question Number : 116 Question Id : 9679472138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chediak-Higashi Syndrome is an example of:
Options :

1. ¥ Autosomal dominant disease

2. # Co-dominance disease

3. % Autosomal recessive disease

4. % Epistasis disease

Question Number : 116 Question Id : 9679472138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AfeUH-RTN Felefor 1T IR |
Options :

1. % SfITRE gg@ I

2. % FE-JHTISAT I

3. ¢ STCIREAT STUHTAT IAT

4. % TORSRY I



Question Number : 117 Question Id : 9679472139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D-loop or displacement loop in vertebrates is an example of:
Options :

1. ¢ Unidirectional DNA replication

2. # Bidirectional DNA replication

3. # Semi-conservative replication

4. ® Semi-discontinuous DNA replication

Question Number : 117 Question Id : 9679472139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HABBA H D-U AT AU () 1T IaRRUI 6|
Options :

1. ¢ UHRT DNA Uldediad

2. % fgfa=fta DNA Ufdediaa

3. % 3ref-wReft ufcrgpiad

4. % 3_3ad DNA Ufdgpaa

Question Number : 118 Question Id : 9679472140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total rate of photosynthesis, including the biomass used up in respiration during the period of measurement, is referred to as:
Options :

1. # Net primary productivity

2. ¥ Gross primary productivity

3. # Secondary productivity

4. % Gross community productivity

Question Number : 118 Question Id : 9679472140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HIYA 1 1Ay o TR 48 H Ygad SRR Aied TobT=T YA B el &R Dl T gl Sifdl 6?2
Options :

1. % g Ui TGl

2. ¥ ohd WYTHD IATGHdl

3. % fgdiad IdrGdHdl

4. % ool YGRS IATGH

Question Number : 119 Question Id : 9679472141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The full form of BLAST is:

Options :

1. ¥ Basic Local Alignment Search Tool
2. # Belt Line Alignment Search Tool

3. % Band Line Alignment Search Text
4. ® Broad Local Alignment Search Task

Question Number : 119 Question Id : 9679472141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BLAST &1 U1 %1 §:

Options :

1. ¢ IRF AP d TATZTHC “El?f_g'?f (Basic Local Alignment Search Tool)
2. % dec A3 TATSHe iﬁfgﬁ (Belt Line Alignment Search Tool)

3. % é@: NIER Q?ﬂs’ﬂfl'd T CRC (Band Line Alignment Search Text)

4, % §Ig dlhd TdISTHC I CRb (Broad Local Alignment Search Task)

Question Number : 120 Question Id : 9679472142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UAG termination codon is called:
Options :

1. ¥ Amber



2. % Ochre
3. ¥ Opal
4. ® Stile

Question Number : 120 Question Id : 9679472142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UAG T Uide (AR ®ie) o1 Hadrdl 82

Options :

1. ¢ 3[SR (Amber)
2. % 3R (Ochre)
3. % 30U (Opal)

4. % WA (Stile)
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Question Number : 121 Question Id : 9679472143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the evolutionary and ecological genomics of social behaviour.
Options :
1. * Animal behaviour
2. % Behaviour genetics
3. ¥ Sociogenomics
4. % Hybridisation

Question Number : 121 Question Id : 9679472143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, QT e &1 fasrarasd ok mifRufas e g1

Options :

]. % UY[HAGR

2. % AGR 3T TRIeh!
3. QNS SHHIHE
4. % P

Question Number : 122 Question Id : 9679472144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hypersecretion of growth hormone in an adult causes
Options :

1. % Gigantism



2. ¥ Acromegaly
3. ¥ Grave’s disease
4. % Myxedema

Question Number : 122 Question Id : 9679472144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IO U gf 1AM o7 sifaamaur 1 HRU T 5|
Options :

1. % Herd (Gigantism)

2. ¢ Sffddbraar (Acromegaly)

3. % UG I (Grave’s disease)

4, % m'@:l@TIT(Myxedema)

Question Number : 123 Question Id : 9679472145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The flavoprotein found in the nucleus of most clock neurons that allows the organism to respond to light by regulating gene expression is:
Options :

1. # Cytochrome

2. # Flavonoid

3. # Oxy-cytochrome

4. % Cryptochrome

Question Number : 123 Question Id : 9679472145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG BTG dABT-DIRIBIST (il TRI-) &b AN T YT S dTel FidIvIc il Sitd ol S ffieafad o1 fafafiig s uemr & ufd
ST P BT SFAM <A &, T &

Options :

1. % HECIhIH

2. % FAdHISS

3. % SffqHl-AIScIop ™




4. ¢ ThoIIA

Question Number : 124 Question Id : 9679472146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The centipedes and millipedes are jointly known as
Options :

1. % Myriapods

2. % Chilopods

3. % Diplopods

4. % Hexapods

Question Number : 124 Question Id : 9679472146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUl (FTTEw) ok Tgaure! (elidiew) &) dgad wu 9 & =0 H ST STl g |
Options :

1. ¢ 3Urd] (ArERATaSH)

2. % faguidl (Redurey)

3. % fegmurd! ((Swrgy)

4. % YCUTE] (BeRITITS )

Question Number : 125 Question Id : 9679472147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the chemical obtained from aquatic plants used in for gelling, thickening and stabilising.
Options :
1. # Carrabrem
2. ¥ Carrageenan
3. # Agar-agar

4. % Monogreen

Question Number : 125 Question Id : 9679472147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % HIeH
2. ¢ BT
3. % TRUR
4. % QA

Question Number : 126 Question Id : 9679472148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two regions in the human beta-like globin gene cluster contain non-fictional sequences called:
Options :

1. ¥ Pseudogenes

2. #* Duplicate genes

3. # Transposons

4. % Retrotransposons

Question Number : 126 Question Id : 9679472148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG el S TS SfiF T (Feex) H o) &8s §f TR-PBed-db IhH 81d & o HEI A g
Options :

1. ¢ QSIS

2. % Guilohe iy

3. % U

4. % YIS

A A

Question Number : 127 Question Id : 9679472149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is defined as the permanent loss of reproductive ability of microorganisms under ideal environmental conditions.



Options :

1. ¥ Microbial death rate
2. % Microbial death

3. # Microbial deletion

4. % Elimination

Question Number : 127 Question Id : 9679472149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@ 3ex yafarvitg uRkfRufadt & gersial o v eifdr &t RIrf g1 & § uRyiid fear mar g |
Options :
1. % geAofad g &)
2. ¥ eolfad g
3. % geoifae fadrd
4. % B

Question Number : 128 Question Id : 9679472150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 5° untranslated region (UAAGGAGGU) in bacteria at the end of mRNA, is a sequence that does not encode any of the amino acids of a protein but
serves as the ribosome-binding site during translation, is called the

Options :

1. % Shine-Dalgarno sequence
2. # Zinc finger motifs

3. # Protein-coding region

4. % Poly(A) tail

Question Number : 128 Question Id : 9679472150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ YRA-STH! SIhH (Hew)

2. % {3 318 ((TR) T Ui (HIfeR)
3. % UIdH-Fed (HifeT) &

4. % Tidil (A) TS

Question Number : 129 Question Id : 9679472151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following features does not fall under the police inquest?
Options :

1. % Can be held in all cases of suspicious deaths

2. % Can order a body to be exhumed

3. # (Can Send dead bodies for autopsy indiscriminately

4. % Can order chemical analysis of viscera

Question Number : 129 Question Id : 9679472151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ o1 Ot fa=ivdr gfery Sira & siarfd el 3l 82
Options :

1. % dfery Al & o mrmet S R wewdt @

2. ¢ &5 A FHBTa BT MR S Tahell 8

3. % o1 fopelt WquTa o, =1al 1 Xa-URef & fore ol wahell &
4. % U1 & TS fO=Aw0T $7 S1C=T § bl §

Question Number : 130 Question Id : 9679472152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the INCORRECT statement about differential scanning calorimetry.
Options :

1. # It is a thermal analytical technique like differential thermal analysis.

2. % [t can detect both endothermic and exothermic events.



3. % It can detect both the combustion of organic matter and the evaporation of water

4. ¥ During DSC analysis, both the sample and an inert reference material are subjected to different temperature programmes.

Question Number : 130 Question Id : 9679472152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I wHdleur ST ((EHIREa Wi FARME) & IR § Tad HYF &1 99 B

Options :

1. % gg fauc ardy fazawur (FESwmRra yra Tfef) SRt ardi fadwuners (ifd Tfifedd) do-ie o

2. % g SR (TSiufte) 3iR Seaiadt (aeniifie) i ge-sfl &1 ual O Il ¢ |

3. % U HraMD Uerdf & g8 3R STd & ITBUT Gl b1 Udl T Gobal §

4.+ DSC faRavur & SRM, THAT 3R U 31feha g ueref 1 &1 S-S araHT SHHICRT (W) & 3iefiH foar Srar g |

Question Number : 131 Question Id : 9679472153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an INCORRECT statement about Questioned Document?
Options :

1. ' It has not been written on the sides of houses, on mirrors and on tables.

2. % Tt can be written in ink, blood or even lipstick.

3. # It can be written on any piece of paper.

4. % Tt includes forged passports, wills, currency, draft cards and driver’s licenses.

Question Number : 131 Question Id : 9679472153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gxarael & ey § fafafad # 9 & 91 &Y= Tad 82

Options :

1. ¢ 98 R & fHRI IR, 2l IR 3R O IR el forar giar g |

2. % 3 W, G o forafRess & ot forar o @b 81

3. % 3 fordit ot HITS o ghe IR fora ST Al g |

4. % 3 ST URIOIE, I, HaT, STUE BTSSR T8 asad Qe |



Question Number : 132 Question Id : 9679472154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following illustration depicts mean as a misleading summary of the data, and it is an example of a/an

density

data (x)
Options :
1. % Outlier
2. ¥ positively skewed distribution
3. # negatively skewed distribution
4. % multimodal distribution

Question Number : 132 Question Id : 9679472154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wwﬁmwﬁéa%mq@%wﬁm%,eﬁ?% B Th 33U

density (2fidh

sel (%)
Options :
1. % 33CARR



2. ¢ YATHSD [auH faaor
3. % BUTHS faud faaqvor
4. % §gfay fadror

Question Number : 133 Question Id : 9679472155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most often used catalytic colour test for blood due to its sensitivity and safety reasons?
Options :

1. ¥ Phenolphthalein

2. # Fluorescein

3. % Haemochromogen test

4. ¥ Benzidine

Question Number : 133 Question Id : 9679472155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TR

2. % TRARRYHA

3. % GIAThIHIG TRI&OT

4. % Softersa

Question Number : 134 Question Id : 9679472156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following roles will be played by a forensic psychologist when a court may wish to know how likely an offender is to reoffend before the
sentence is decided?

Options :

1. # Clinical role

2. % Experimental role
3. % Actuarial role



4. % Advisory role

Question Number : 134 Question Id : 9679472156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JI® YHABT (Clinical role)

2. % URNAS YUPT (Experimental role)

3. ¢ SiiaHifh bt YHPT (Actuarial role)

4. ® AlghRR “—L[&IW (Advisory role)

Question Number : 135 Question Id : 9679472157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The class characteristic of a fired bullet or cartridge casing is:
Options :

1. # breech face markings

2. % bullet striations

3. % number of lands and grooves

4. % ejector markings

Question Number : 135 Question Id : 9679472157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g8 U8 3 (sia g HTfch)

2. % TNcll XWih (Feic TPURM)

3. ¥ YT R G (TS 3R o) DI T
4. % BT 3 (Iolaey ATfH)



Question Number : 136 Question Id : 9679472158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the photographic technique suitable for showing the outline of a footprint on a carpet?
Options :

1. # Ultraviolet-light photography

2. % Macrophotography

3. ¥ Microphotography

4. ¥ Laser-beam photography

Question Number : 136 Question Id : 9679472158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ & It SRIieT (Bl d) ddb-ie Bl IR Ueig ®! wudl fam & i Suged 87
Options :

1. % TRISTI-UHTRI DI

2. % THIDICUTH!

3. % HIZHIBICIUTh

4. ¥ ASR-E BT

Question Number : 137 Question Id : 9679472159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first virus to infect Java files?
Options :

1. % Jerusalem

2. % Melissa

3. % Tristate

4. % Strange Brew

Question Number : 137 Question Id : 9679472159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FafoRad # ¥ D Java B3 @I YU B aTel Tgoll IRy g2
Options :

1. # Jerusalem (@W )

2. # Melissa (ﬁﬁ”lﬂT)

3. # Tristate @'@T‘f)

4. ¥ Strange Brew (@A.Gf )

Question Number : 138 Question Id : 9679472160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following data and answer the question that follows. Average distance (d) = 40.50 ft, Speedometer reading entering skid (s) = 28 mph. The
correct value of the drag factor for the given data will be:

Options :
1. ¥ 0.645
2. % 0.893
3.% 142
4. % 0.7

Question Number : 138 Question Id : 9679472160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 0.645

2. % 0.893

3.% 142

4. % 0.7

Question Number : 139 Question Id : 9679472161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT correct about Address Resolution Protocol (ARP) and ARP spoofing?



Options :

1. # ARP is how network devices associate MAC addresses with IP addresses.

2. % ARP spoofing is a technique in which an attacker sends fake ARP messages onto a metropolitan area network.
3. % ARP enables devices on a local computer network to find each other.

4. % ARP spoofing allows an attacker to intercept data (passwords, credit card numbers, etc.) being transmitted on the network.

Question Number : 139 Question Id : 9679472161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ARP 3fyfd Acdds fSarsy H¥ MAC Td! & 1P Udl § TS 3

2. ¢ ARP T U Ut dh-1 ¢ Forad gHameR Heriferes YRAT Aead (MAN) IR A&l ARP HoRT Hordi g

3. % ARP WM (@ d) HHR "cdd IR IUHRUN B! Uh GIR B Jio H J&H S 8 |

4. % ARP fth] BHATER P! Acddh TR URIRd B aTdl Sel (Urds, thise s e, M) & SfaRie (3e3QP) &I A ST 8|

Question Number : 140 Question Id : 9679472162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the two parts of the body that are most useful for determining sex?
Options :

1. % Femur, pelvis

2. % Humerus, skull

3. ¥ Pelvis, skull

4. % Pelvis, tibia

Question Number : 140 Question Id : 9679472162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed fawedl & @ o9 IRR & T4 &l YIS foffT RyRor & fore waifie suantt 82
Options :

1. % IfdeT, siftr

2. % ST, Wus!



3. « i1, WuSt
4. % ofifOr, ST
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Question Number : 141 Question Id : 9679472163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following phases of development of anthropology in India was added by Basu Roy in addition to the one given by LP Vidyarthi?
Options :



1. # Formative phase
2. ¥ Evaluative phase
3. #® Analytical phase

4. % Constructive phase

Question Number : 141 Question Id : 9679472163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % MSATHD =RUT

2. ¢ Yih TR

3. % {IRAYUIEHD <RI

4, % JJATHD IR

Question Number : 142 Question Id : 9679472164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The study of the relationships and interactions among humans, their biology, their cultures and their physical environments is known as:
Options :

1. # Anthropology

2. % Ecology

3. ¥ human ecology

4. % cultural ecology

Question Number : 142 Question Id : 9679472164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS, 3 ofid faq, S9! W iad! iR 3% Hifdd aTdiarl & st deel 3R sfa:frarsii & sreqaa o PRI B
Options :

1. % Jfaq

2. % gRIRUfAPL

3. ¢ {4 UIiRIRUfdeh!



4. % Wephie TR

Question Number : 143 Question Id : 9679472165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Petrified wood is a common example of which of the following altered preservation types?
Options :

1. ¥ Permineralisation

2. ¥ Recrystallisation

3. #® Replacement

4. # Carbonisation

Question Number : 143 Question Id : 9679472165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ RIS

2. % O fohcdiianrun

3. % iR

4, % BTGB

Question Number : 144 Question Id : 9679472166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the frequency of carriers in the next generation if the recessive trait is shown by 4% of the population?
Options :

1. % 4%

2. % 12%

3. % 24%

4.9 32%

Question Number : 144 Question Id : 9679472166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SRR & 4% GRT ST &I T S, T STl Uie! H aTged! &1 SA1gRT foa-l g
Options :

1. % 4%

2. % 12%

3. % 24%

4.9 32%

Question Number : 145 Question Id : 9679472167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Diffusionist Schools advocated that Culture first evolved in Egypt and then spread to the far corners of the world?
Options :

1. # American Diffusionist School

2. # German Diffusionist School

3. % British Diffusionist School

4. ¥ Both American and German Diffusionist Schools

Question Number : 145 Question Id : 9679472167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ARF fegeRe Yo
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3. ¢ fofex fewgee W
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Question Number : 146 Question Id : 9679472168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is INCORRECT about resting heart rate (RHR)?

Options :

1. # It is one of the simplest cardiovascular parameters.

2. % Tt usually averages 60 to 80 beats per minute (bpm).

3. % Rates below 60 bpm, referred to as tachycardia, and rates above 100 bpm, referred to as bradycardia, are clinical heart disorders.

4. % Elevated heart rate (>80-85 bpm) measured under resting conditions is directly associated with the risk of developing hypertension and
atherosclerosis.

Question Number : 146 Question Id : 9679472168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foRmTaRIT g T (RHR) & Teie T FUfiad & 9 & 1S4 7ad 82

Options :

1. % 8 Y99 WA ged HUG S H Y UH g

2. % g JIYRUIG: 3G 60 T 80 die Ufd fiFe (bpm) ST R

3. ¢ 60 bpm ¥ 19 P R, R fvIgeaar H81 S1a 8, 3R 100 bpm ¥ SR Bi &R, SR gg-Hadl &8l 9I1d 8, Ae® gad fAeR g
4. % foRmAaRT & AT T3 3= §ed T (>80-85 bpm) e I IaAY 3R YRRIGIST o [9bTd & ShigH I ST 8|

Question Number : 147 Question Id : 9679472169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a correct statement about brachial index?

Options :

1. # It is represented as the length of the forearm relative to the lower limb.

2. # A low brachial index is beneficial for sports in which longer propulsive drive of the forearm is desirable.

3. % An athlete who has a high brachial index tends to have short force arms which benefit in athletics such as shot put.

4. ¥ A high brachial index facilitates for longer stroke length.

Question Number : 147 Question Id : 9679472169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WIS Jadbic & e & fFafafad & o9 91 &= I8t 82

Options :



1. % 3 frae o (o) & IT0el UhIg 1 oiaTs & TU | a=1iaT Sa 2|

2. % [0 WIS Yabich I Well b [T BIIGHE BIdT § o4 UDIY B! diell YN gIed aia-14 g |

3. % U TYTiIe o UM 3= Wi Yadhieh gidl 8, SUb UI Y §¢ o1 8id & off WAy oI M-t (e ge) & aaRI g
4. T I WIS YAHIH ddll Wi ddls & (ol JfaeT UeH HRaT g |

Question Number : 148 Question Id : 9679472170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ATD angles of a healthy person and a Down syndrome person are:
Options :

1. # 80% and 7%, respectively

2. ¥ 7% and 80%, respectively

3. ® 85% and 15%, respectively

4. % 8% and 70%, respectively

Question Number : 148 Question Id : 9679472170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T W AT 3R 13 RigH aret afdd & ATD BT g gl
Options :

1. % HHIT: 80% 3R 7%

2. HHTT: 7% 3R 80%

3. % SHHRT: 85% 3R 15%

4. % A 8% 3R 70%

Question Number : 149 Question Id : 9679472171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The new world monkeys that have been observed to use tools to obtain food in its natural habitat are:
Options :

1. % Capuchins

2. % Howler monkeys

3. ¥ Marmosets



4. % Tamarins

Question Number : 149 Question Id : 9679472171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T WA SMTar & HISH YT - o fo7T STHRUN BT IGINT & aTal 1Y 9y §aR (| acs Hab)) gl
Options :

1. ¢ HYRH

2. % IR &R

3. % AN

4. % CHEIRA

Question Number : 150 Question Id : 9679472172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian state where tank irrigation has been popular since the ancient period is:
Options :

1. %* Andhra Pradesh

2. % Rajasthan

3. ¥ West Bengal

4. % Tamil Nadu

Question Number : 150 Question Id : 9679472172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3y Y



Question Number : 151 Question Id : 9679472173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non-government organisation that is working in the field of disaster management and with which anthropologists are
associated?

Options :

1. # Disaster Aid UK
2. % USAID

3. % World Vision

4. % NDRF

Question Number : 151 Question Id : 9679472173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad fawenl # @ S TR-IRGR WS g, S IS TeieH & &3 H o1 R 871 | 3R o) 9w 98 gu 82
Options :

1. % &R VS UK

2. % USAID

3. ¥ 90 fagH

4. % NDRF

Question Number : 152 Question Id : 9679472174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The hydrophobic effect in a protein structure occurs primarily due to which of the following?
Options :

1. #* Increased hydrogen bond formation

2. ¥ Increased the entropy of water

3. ® Reduced steric hindrance between amino acid side chains

4. % Minimised van der Waals interactions

Question Number : 152 Question Id : 9679472174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T a1 H Siar-faRieht gure g &0 § Fafefad o 9 feas arugare?
Options :

1. % gffd gTSSIoM §¢ T34

2. ¢ Fd DI Tt B gfg

3. % S URIS WSS 94 & &g °ct gs [Afdd (XRa) amer

4. % Y qreR A1 S=-ATeh AT

Question Number : 153 Question Id : 9679472175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following:

Drug Mode of Action
a.Ethambutol | 1. Inhibits the biosynthesis of
mycolic acids
Inhibits bacterial RNA
polymerase
c. Rifampin | 3. Targets the mycobacterial fatty
acld synthase I gene
d. Isoniazid 4. Blocks arabinosyl transferases

b.pyrazinamide

I3

Options :

1. % a-1,b-2, c-3,d-4
2. % a2, b-4,c-1,d-3
3. % a-4,b-2,c-3, d-1
4.9 a-4 b-3,c-2,d-1

Question Number : 153 Question Id : 9679472175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % a-1, b-2, c-3, d-4
2. % a2 b-4,c-1,d-3
3. #® a-4,b-2, c-3, d-1
4.9 a-4, b-3, c-2, d-1

Question Number : 154 Question Id : 9679472176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following enzymes’ mutation will lead to the accumulation of lactic acid in liver?
Options :

1. * Phosphofructokinase-1

2. ¥ Cytoplasmic malate dehydrogenase

3. # Pyruvate kinase

4, * Glucokinase

Question Number : 154 Question Id : 9679472176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % BIOpIhaeIBEIS-1
2. ¥ AR Hale fSerggiorst

3. % UIg¥dc Bl

4. % TBIBIZAS

Question Number : 155 Question Id : 9679472177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is most useful as a tumour marker in colorectal cancer?
Options :

1. ¥ Human Chorionic Gonadotropin

2. % Alpha-Fetoprotein

3. ¥ Carcinoembryonic Antigen

4. % Tissue Polypeptide Antigen

Question Number : 155 Question Id : 9679472177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad faswed § 9 S Piakeed HIR & ek A1eR & ©U 8 Ja It 82
Options :

1. % ggHA HIR3MHAS MATSICIUA

2. % 37eth] Bl

3. ¥ BIRAICETAND Ffds

4. % FdP UleUPISs Ufde

Question Number : 156 Question Id : 9679472178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chromatographic techniques is used for Cot analysis?
Options :

1. # Jon-exchange chromatography

2. % Gel filtration chromatography

3. # Paper chromatography



4. ¥ Hydroxyapatite chromatography

Question Number : 156 Question Id : 9679472178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferfad 7 @ o @ auiad) (FraeRnthe) de-id BT ST Bic (Cot) fazayur & foru fasar Sirdr 82
Options :

1. % 3moH-fafag quiereH

2. % G e quicres

3. % BRI qUiCRa (UWR SHIHCTIThT)

4. ¥ QR SIRITUCTgE quickad

Question Number : 157 Question Id : 9679472179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following interactions between lipid chains are important to stabilise the plasma membrane structures?
Options :

1. ¥ Hydrophobic and van der Waals interactions

2. # Hydrogen bond and van der Waals interactions

3. % Hydrophobic and ionic interactions

4. % Tonic and covalent bonds

Question Number : 157 Question Id : 9679472179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS et WRash & fRR & & o fafue saanstt & st Fafafad & 9 o i simaforar agayul 82
Options :

1. ¢ ERSIBIEH 3R areR ared FaIfeha

2. % BIEQIoM oY 3R ISR aTed 3argshar

3. % GIESShiia® 3R e s

A

4, % II® R JgIAISTD &




Question Number : 158 Question Id : 9679472180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cell types that are NOT considered a professional antigen-presenting cell are:
Options :

1. # dendritic cells

2. % Bcells

3. ¥ Neutrophiles

4. % Macrophages

Question Number : 158 Question Id : 9679472180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g BIRTHT THR B URGR TfcToT- TRl BITABT 6! T STl 572
Options :

1. % GHIPIAD (SfSfeh) BIfRTbT

2. % B DIRIBT

3. ¢ FERIRAT (YZIhTEa)

4. % FEMEIPH HIRAHT (HehIthoT)

Question Number : 159 Question Id : 9679472181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two most often used meat tenderising enzymes are:
Options :

1. # papain and chymotrypsin

2. # trypsin and chymotrypsin

3. * trypsin and elastin

4. % papain and bromelain

Question Number : 159 Question Id : 9679472181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U 3R BreHifefRE

2. % fefdA SR FRAINRRH

3. % ¥ iR ganfes

4.+ U 3R S8

Question Number : 160 Question Id : 9679472182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characteristics will a double-stranded DNA molecule share with a double-stranded RNA molecule of the same size?
Options :

1. ¥ Both will have secondary structures.

2. # Both will contain inverted repeats.

3. % Both will be degraded by alkaline base.

4. % Both will contain four types of base-pairs.

Question Number : 160 Question Id : 9679472182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fg-dq (STA-ILSS) DNA U], THH MHR b fg-adg RNA 0] & I1y FafaRad & § I 5t faiar argn s
Options :

1. ¢ A H el TR g
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Question Number : 161 Question Id : 9679472183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first genetically engineered drug approved by the Food and Drug Administration?
Options :

1. % Human Insulin

2. * Interferon

3. % Penicillin

4. % Somatostatin

Question Number : 161 Question Id : 9679472183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TTE Td ST U= gRT SigHifed, SMdRie U ¥ i ugdl gar FafaRad § 9 & i g2
Options :

1. ¢ HHd $gfeH

2. % $URM

3. % UffdfeH

4, % QAERefeT

Question Number : 162 Question Id : 9679472184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques makes use of fluorescent dyes?
Options :

1. # SDS-PAGE

2. % 2-dimensional gel electrophoresis

3. ¢ Difference in gel electrophoresis

4. % Native-PAGE

Question Number : 162 Question Id : 9679472184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifead § T o It ao-ie TaRRie (Ufadifty) I &1 IUTNT B 82
Options :

1. % SDS-PAGE

2. % fg-smart S dggadbURiaeH

3. ¢ 99 dggaBURITge | 3R

4. % 4d (Af¢d)-PAGE

Question Number : 163 Question Id : 9679472185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Comparative genomics will be a preferred tool over the conventional sequencing analysis for the identification of:
Options :

1. # Exons



2. % transcribed regions
3. # repeat containing regions

4. ¥ regulatory regions

Question Number : 163 Question Id : 9679472185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 UgdH & T URURS SIHH AN TR TS SR Uh UGIG] STl gHT |
Options :
1. % TaH-g
2. % gfadiad &=t
3. % GG g &Rl
4. famme et

Question Number : 164 Question Id : 9679472186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an amino acid side chain of albumin that participates in this buffering range between 7.2 and 7.4?
Options :

1. % Aspartate

2. ¥ Histidine

3. # Lysine

4. % Serine

Question Number : 164 Question Id : 9679472186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfRad & ¥ ®IF Tt &t 3fiHl TS WIge TF 8 off 7.2 3R 7.4 & Sid 39 I ST § YT ol 87
Options :

1. % @I

2. ¢ feEdish

3. % ISR

4. % I



Question Number : 165 Question Id : 9679472187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following spores is NOT formed as a result of sexual reproduction in fungi?
Options :

1. # Zygospore

2. % Sporangiospore

3. # Ascospore

4. % Basidiospore

Question Number : 165 Question Id : 9679472187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ & A1 SIS0 HaF (fungi) T T o & URUTH & 9 H T81 o+dT1 82
Options :

1. % SISRUR

2. ¢ WRAKRGR

3. % TWHIUR

4. % RITSTRUR

Question Number : 166 Question Id : 9679472188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pigments is present only in green and purple bacteria?
Options :

1. * Chlorophyll a

2. % Chlorophyll b

3. # Chlorophyll ¢

4. % Bacteriochlorophyll

Question Number : 166 Question Id : 9679472188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafoiad & 9 & a1 9ufer dad g SiR ST SitaTy # Hislg gidT 82
Options :

1. % FARIhd a

2. % FARIbe b

3. % FIRId ¢

4. ¢ JERINIFIRITGA

Question Number : 167 Question Id : 9679472189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Baltimore classification of viruses, which class of viruses contains a double-stranded RNA molecule in its genome?
Options :

1. ® Class 1

2. % Class II

3. ¥ Class III

4. % Class IV

Question Number : 167 Question Id : 9679472189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & el & arifes<or & SR, g ovf & fasmuaii & Toi & U feplt RNA 3 §aT 82
Options :

1. % @il

2. % qII

3. ¢ QI

4. % @IV

Question Number : 168 Question Id : 9679472190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cytokines is NOT secreted by T2 cells?

Options :



1. ¥ IL-2
2. % L4
3. % IL-5
4. % IL-10

Question Number : 168 Question Id : 9679472190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad & 3 ®F a1 Wi Tyy2 SIRIGI3H gRT w1fad a1 gidT 82
Options :

1. ¥ IL-2

2. % L4

3. % IL-5

4. % IL-10

Question Number : 169 Question Id : 9679472191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an essential assumption for the Michelis-Menten derivation?
Options :

1. ¥V, is considered only when [S]>>[P]; [S

[SI>>[P]; [S]
2. ® V is considered only when [P]>>[S]; [S|>>[E]
3. # V is considered only when [S]>>[P]; [E]>>[S]
4. ® V is considered only when [S]>>[P]; [S]=[E]

Question Number : 169 Question Id : 9679472191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad & & ® -1 A ior-He Sgd & oY JasiTaRad YR g2
Options :

1. ¢ Vo, @ HHT ST Sd [S]>>[P]; [S]>>[E]

2. % v, IHI |1 ST 8§16 [P]>>[S]; [S>>[E]



3. % v, T AT SITAT1 8 9 [S]>>[P); [E]>>[S]
4. % v, T TSI § 519 [S]>>[P]; [S]=[E]

Question Number : 170 Question Id : 9679472192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The characteristic earthy odour of soil is due to the presence of an odour-causing compound called geosmin. Which bacterial genus produces this
compound?

Options :

1. * Nocardia

2. # Corynebacterium
3. # Mycobacterium
4. ¥ Streptomyces

Question Number : 170 Question Id : 9679472192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Aprsar

2. % PIRAEINTH
3. % ARPIdaciRgd
4. ¥ EOHEEY

Question Number : 171 Question Id : 9679472193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of infection (associated with parasitic organisms) is defined as a localized infection with a collection of pus surrounded by
an inflamed area?

Options :
1. % Focal
2. % Sepsis



3. % Abscess
4. % Sporadic

Question Number : 171 Question Id : 9679472193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9
2. % INTULAT
3. ¢ IS
4. % fampiof

Question Number : 172 Question Id : 9679472194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clostridium perfringens is a bacterial pathogen which lyses the host erythrocytes and thus causes anaemia. Which of the following chemicals is secreted
by this pathogen?

Options :

1. * Porins

2. ¥ Haemolysins

3. # Coagulase

4. % Collagenase

Question Number : 172 Question Id : 9679472194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % O

2.« BHIFIRHA
3. % DAY




4. % BT

Question Number : 173 Question Id : 9679472195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bacterial chromosome is a replicon.
Options :

1. # double

2. % triple

3. ¥ single

4. % quadruple

Question Number : 173 Question Id : 9679472195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S UREATE  Ufdpid 5l

Options :

1. % qrgdl
2. % fogdl
3. ¥ Thd
4. % T

Question Number : 174 Question Id : 9679472196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an interrupted mating experiment, it is seen that, after 5 minutes, the recipient is met™; after 15 minutes, there is appearance of arg”, and after 10
minutes, the recipient is leu”. However, the recipient is almost never his™. Where, in the genome, is the ori of transfer?

Options :

1. #¥ Between arg” and his*

2. % Between leu” and arg”

3. ¢ Between his” and met”

4. # Between met” and leu”



Question Number : 174 Question Id : 9679472196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T TENT H, I8 <1 T § %, 5 e & a1, Urddhdl met”™ Bl 8; 15 M & 9%, arg” faWTs <A1 8, 3R 10 fiFe & STe, Ul
leu” BT 8 | BT, UTaehd! U B+ 4 his™ 7Y g1a1 81 ST &, RITTARUT &7 ori H8T 82

Options :

1. % arg+3ﬁ7his+aaaﬁa

2. % leu+3ﬁTarg+$§ﬂa

3. ¢ his™ 3R met* & &

4. % met’ 3R leu* F T

Question Number : 175 Question Id : 9679472197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a probiotic organism?
Options :

1. % Campylobacter

2. # E. coli

3. ¥ Bifidobacterium

4. % Salmonella

Question Number : 175 Question Id : 9679472197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifead & 9 SH Uerifes S g2
Options :

1. % HiEraidaey

2. % 3 BT (E. coli)

3. ¢ fafth st an

4. % G



Question Number : 176 Question Id : 9679472198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tools can be used for multiple sequence alignment?
Options :

1. ¥ CLUSTALW

2. % BLAST

3. ¥ RASMOL

4. % MOTIFSCAN

Question Number : 176 Question Id : 9679472198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRad IRl & 9 Ui S IRAUT & 1T JudiT fawa S Tavdl 82
Options :

1. ¢ ®HeRedd (CLUSTALW)

2. % &R (BLAST)

3. % IHAA (RASMOL)

4. % HIfCTHIHT (MOTIFSCAN)

Question Number : 177 Question Id : 9679472199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gene transfer mechanisms involves viruses?
Options :

1. * Conjugation

2. % Transduction

3. ® Transformation

4. % Electroporation

Question Number : 177 Question Id : 9679472199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fraferad &  fog S RIMiaRUr d21 § areRy 2 81d 82
Options :

1. % Hgm

2. ¢ UTRATHT

3. % gRadq

4. % dggdYaRH

Question Number : 178 Question Id : 9679472200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B represents the dominant allele and b represents the recessive allele of a pair. If Bb is crossed with bb, what percentage of progeny will be bb?
Options :

1. ¥ 50%

2. % 0%

3. % 25%

4. % 75%

Question Number : 178 Question Id : 9679472200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bﬁjﬂﬁ@ﬂﬁﬁﬁﬂh%@?b@ﬂ%mmﬁm%lﬁBbﬁbb%ﬁqw&ﬁmw%aﬁﬂﬁrmmm
bb B2
Options :
1. ¥ 50%
2. % 0%
3. % 25%
4. % 75%

Question Number : 179 Question Id : 9679472201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which band of chromosome is constitutive heterochromatin found?
Options :



1. # G band
2. ® Aband
3. ¥ C band
4. # R band

Question Number : 179 Question Id : 9679472201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & g §8 T TS geRishIAfe- U SiTdl g2
Options :

1.% Gd3

2. % AdE

3./ Cd8

4. % RSE

Question Number : 180 Question Id : 9679472202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A species of cat in the Indian sub-continent follows Hardy-Weinberg population principles in determining skin colour. The dominant phenotype is
represented by black skin colour, while the recessive phenotype is represented by grey skin colour. If half of the population carries the recessive allele,
what percentage of cats have black skin colour? (Assume complete dominance.)

Options :
1. %# 25%
2.¥ 75%
3. % 50%
4. % 60%

Question Number : 180 Question Id : 9679472202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR SUHETET H foeel! &1 T TSI BT @l auf [1d R H gTel-a7a S Gl o1 Ta SRl ¢ | THE THAEI0N B HIelt @l auf
SR RISl B, Safds SATac THaeon B el & 9ot gRT g=iiar SIrdr g | afe aneht srardt # sacdf wwaerft 8, af foran ufawra fafeea &t
a1 quf STer 82 (40T UigE JH T )




Options :

1. % 25%
2.9 75%
3. % 50%
4. % 60%
Discipline$
Group Number : 10
Group Id : 967947110
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline$
Section Id : 967947110
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 967947132
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679472203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What would be the sequence of bases of an mRNA molecule that was transcribed from the sequence of DNA bases shown?

3’ - TCAGCTTAGCCTAGT -5’
Options :

1. ¥ 5> - ACUAGGCUAAGCUGA -3’
2. % 3’ - AGTCGAATCGGATCA -5’
3. % 5 - UCTUGGCUUUGCUGU - 3’
4. % 3 - TCUGCTTUGCCTUGT -5’

Question Number : 181 Question Id : 9679472203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhdl mRNA 310 & &Reb| BT 3Ishd o1 GRSl fE@IY 7TU DNA &Rebl b I H I RIFIAR favdm 71T o1

3’ - TCAGCTTAGCCTAGT - 5’
Options :

1. ¥ 5 - ACUAGGCUAAGCUGA - 3’
2. % 3’ — AGTCGAATCGGATCA -5’
3. % 5 - UCTUGGCUUUGCUGU - 3’
4. % 3° - TCUGCTTUGCCTUGT -5’

Question Number : 182 Question Id : 9679472204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following eukaryotic RNA polymerases is responsible for the transcription of mRNA?
Options :

1. ¥ RNA polymerase III

2. ¥ RNA polymerase 11

3. # RNA polymerase I

4. % Both RNA polymerase I and II

Question Number : 182 Question Id : 9679472204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad & & ®F 1 Yhad! RNA TIIERS mRNA & faere & forg fodieR g2
Options :

1. % RNA UIelAR 11

2. ¥ RNA TR 11

3. % RNA OVl 1

4. % RNA OIGHERS I 3R 11 g1

Question Number : 183 Question Id : 9679472205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Haemophilia is a/an genetic disorder.
Options :

1. * autosomal recessive
2. % X-linked dominant
3. # autosomal dominant
4. ¥ X-linked recessive

Question Number : 183 Question Id : 9679472205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SfYHadTd (FHwiferan) TR faPR B
Options :

1. % St sfad (sfieraa YRa)

2. % X-ag yHmEl (X-fdids SiftHe)

3. % SIRE Tt (feAd SifHe)

4. ¢ X-Gag 3mad (x-foigs Rafa)

Question Number : 184 Question Id : 9679472206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To create contigs, we must have:
Options :



1. ¥ two overlapping pieces of DNA

2. # two complimentary strands of DNA

3. % two unrelated pieces of DNA

4. % one DNA molecule and one RNA molecule

Question Number : 184 Question Id : 9679472206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI S o o, gHR U GRIEIEY

Options :

1. ¥ DNA & @l 3ifdeardi g

2. % DNA 31 & 3P F (X gH)

3. % DNA & Gl 3dfeid ghs

4. % TH DNA 317] 3R TH RNA 3(7]

Question Number : 185 Question Id : 9679472207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microbes that grow on leaf surface are termed as:
Options :

1. ® epiphytes

2. % endophytes

3. # rhizospheric

4. ¥ phyllospheric

Question Number : 185 Question Id : 9679472207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 1 g TR I aTel YeEHSId HEard T 87
Options :

1. ® 3ffurey

2. % 3id.Ureqy

3. % O gRax



4. ¢ gufHsd

Question Number : 186 Question Id : 9679472208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of chromosome abnormality leads to Down’s syndrome?
Options :

1. # Deletion

2. #* Translocation

3. ®* Inversion

4. % Aneuploidy

Question Number : 186 Question Id : 9679472208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & B 5T TR & ToRE ST ¥ 313 RigH gl 82
Options :

1. = ﬁ?‘h'q:f(Deletion)

2. % RJFIARUT (Translocation)

3. #® JchHUI (Inversion)

4. @@Iﬁﬁﬂ (Aneuploidy)

Question Number : 187 Question Id : 9679472209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a source of genetic variation?
Options :

1. ¥ Inbreeding

2. # Mutation

3. # Gene flow

4. % Sex

Question Number : 187 Question Id : 9679472209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafifad § o Saiie faie o1 did T8 2
Options :

1. ¢ 3RS U

2. % IGNadT

3. % S UydTg

4. % foiT/Agary

Question Number : 188 Question Id : 9679472210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an endogenous trigger of the RNAi pathway?
Options :

1. ¥ Aberrant transcripts from repetitive sequences

2. % Pre-micro RNA

3. ¥ Antisense RNA

4. % dsRNA of viral origin

Question Number : 188 Question Id : 9679472210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad § @ S I RNAL AT &1 siduifd foR 781 82
Options :

1. % JRIGd! 3! O Take ¢y

2. % -3 RNA

3. ¢ UETHY 3RTAT RNA

4, % GRRA G & dsRNA

Question Number : 189 Question Id : 9679472211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following genes required for Drosophila development produces a morphogen?



Options :

1. * Bicaudal gene
2. % Swallow gene
3. ¥ Bicoid gene

4. % Exuperantia gene

Question Number : 189 Question Id : 9679472211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Srftha fawr & fo smaxges Fufefad & & & a1 ofi Aiw o Ue FHRdl 82
Options :

1. % SIgPISd S

2. % WTal S

3. ¢ IEDIZS Sl

4, % TRgURfeAT S

Question Number : 190 Question Id : 9679472212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT useful for host chromosome mapping?
Options :

1. # Generalised transduction

2. ¥ Specialised transduction

3. #® Conjugation

4. ®* Transformation

Question Number : 190 Question Id : 9679472212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & @ 19 Aoar o &t ufafsor forg Suarh =2 82
Options :

1. % GRipd URTEA

2.« ARy U



3. % g
4, % 330

Question Number : 191 Question Id : 9679472213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combinations of dihedral bonds in peptide is NOT possible theoretically?
Options :

1. % ¢ =180° y=90° »=90°

2. % 9=-180° y =90° o= 0°

3. % ¢ =180° y=-90° = 180°

4. % ¢=-180° y=-90° & = —180°

Question Number : 191 Question Id : 9679472213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0pTEs § SR Sd aie &l Fgfiied # ¥ &9 1 Yaieq Ygifde U 3 ¥Hd 761 82
Options :

1. % ¢ =180° vy =90° o = 90°

2. % ¢ =-180° y=90° ® = 0°

3. % ¢ =180° y=-90° = 180°

4. % 9=-180° y=-90° ® =—180°

Question Number : 192 Question Id : 9679472214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proteins which appear to exist in an ensemble of structures of approximately equal energy, that are in equilibrium, are termed as:
Options :

1. % dimorphic proteins

2. ¥ metamorphic proteins

3. ® polymorphic proteins

4. % globular proteins



Question Number : 192 Question Id : 9679472214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d TS S AT GHH Solt ot WRa13T & JHg & Aielg Udid 8id &, S igar H &, 1 Hgald 82
Options :

1. % fg=di uIdH

2. ¢ EUIART Ui

3. % §g=UI UICH

4. % TADBR UICH

Question Number : 193 Question Id : 9679472215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
You have estimated the percentage of cholesterol in four different types of bilayer membrane: L, M, N and O. The percentages are as follows:

L —-10%, M — 14%, N — 8%, O —22%

Which of the following is the correct order in terms of increasing permeability of the bilayer to small water-soluble molecules?
Options :

. ¥ N<L<M<O

2. % L<KN<O<M

3. # M<O<N<L

4 ¥ O<M<L<N

Question Number : 193 Question Id : 9679472215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY TR SHET-3HET UDHR D1 AR et H BIaReid &b Uia=Id BT ST ST E: L, M, N 3R O | Ufd=Id 39 YR 3
L - 10%, M - 14%, N - 8%, O - 22%

g H gerRita Bic Sufsff & fo fgiRd &1 Sedt TRl & ge # Fofaiad 3 9 & 91 98! i 82
Options :

l.%# N<L<M<O

2. % L<N<O<M




3. % M<O<N<L
4. ¥ O<M<L<N

Question Number : 194 Question Id : 9679472216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following immunoglobulins is known to cross the placental barrier?
Options :

1. * IgA

2. ¥ 1gG

3. % IgM

4. % TgE

Question Number : 194 Question Id : 9679472216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & & ®F a1 ufeRemaAIger SoRT Y Bl IR B & g ST ST 82
Options :

1. % IgA

2. ¥ 1gG

3. % IgM

4. % TgE

Question Number : 195 Question Id : 9679472217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following transcription factors is a shoot apical meristem determinant?
Options :

1. ¥ WUS

2. % CLV3

3. % CLVI

4. % WOX5



Question Number : 195 Question Id : 9679472217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & & & A1 ufdara HR® Th Y Tida ARer FuRe g2
Options :

1. ¥ WUS

2. % CLV3

3. % CLVI

4. % WOXS5

Question Number : 196 Question Id : 9679472218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is involved in the first carboxylation reaction during Calvin cycle?
Options :

1. % 1,3-Bisphosphoglycerate

2. % ATP

3. # Glyceraldehyde 3-phosphate

4. # Ribulose 1,5-bisphosphate

Question Number : 196 Question Id : 9679472218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § 4 oF Bicad I% & SR Uga Hralfeyas sfifsar & e g2
Options :

1. % 1 3-fopRmIfeRe

2. % ATP

3. % fRRIfcEgIgs 3-hIhe

4. ¢ RgaAT 1,5-fophe

Question Number : 197 Question Id : 9679472219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a 1050 base pair closed-circular DNA molecule is nicked, underwound by two turns and then, the strands are joined (it becomes closed circular
again), what will be the linking number of this new closed-circular DNA molecule? (Assume 10.5 base pairs per turn of the DNA molecule)

Options :
1. % 100
2. % 102
3.¥ 98
4. % 96

Question Number : 197 Question Id : 9679472219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TH 1050 &RP G TFT agdd DNA 3] T fear Aan g, &1 Hie F 3SRars S g1 ol § SR fhr, W d IS I § (I8 R ¥ UG e dig &1
ST §), 39 U U< 9dd DNA 310] B Ggaryl TeaT 31 gRI? (A ifoTd DNA 3(0] & Ufd 7S 10.5 &R® )

Options :

1. % 100

2. % 102

3.4 98

4. % 96

Question Number : 198 Question Id : 9679472220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the diameter of the nucleosome structure of DNA?
Options :

1. % 300 nm

2.% 11 nm

3. % 30 nm

4. % 2 nm

Question Number : 198 Question Id : 9679472220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DNA P BighTH I b1 AT a1 giar 82



Options :
1. ¥ 300 nm
2.% 11 nm
3. % 30 nm
4. % 2 nm

Question Number : 199 Question Id : 9679472221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which hormone are early patterning events in plants related?
Options :

1. # Cytokinins

2. % Gibberellins

3. ¥ Auxins

4. # Ethylene

Question Number : 199 Question Id : 9679472221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe 7 g ufaequr gedrd forg g 9 eftd 82
Options :

1. % Hgclprgd

2. % fIRferg

3. SfiTRT=

4. % A

Question Number : 200 Question Id : 9679472222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Accumulation of genes into a single line or cultivar is termed as:
Options :

1. % backcrossing

2. ¥ gene pyramiding



3. % pedigree breeding
4. % selfing

Question Number : 200 Question Id : 9679472222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U d X1 AT HecaR § Sit! o S D T BT STl 52
Options :

1. % B (ShepIT)

2. ¢ ofi foRifafET

3. % GRIaC Yo

4. % T



